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Eg_a ith refcrencc to 1.
1. Consider the following statements wi
the Workers and Peasants Party : a5 formed in
1. The Workers and Peasants Pﬂm;t"van All India

1927 and was given the form
Organisation.

k within
2. The objective of this party was to WZ; s
the Congress so that it could be M3

revolution inclined party and an organisation of
the common peoplgn
Which of the above statSents is/are correct 7
(@) Neither 1 nor 2 ) Bothl and 2
(c) Only2 <jd) Onlyl
™

2. Consider the followingr:{rents and arrange them 10
chronological order :
1.  East India Association E%g
2. National Indian Association L
3. Indian Society
4. Indian Association
Select the correct answer from the codes given below :
(@ 1,3,2,4 i) 1,2,4,3
() 1,2,3,4 ~d) 2,1,4,3
<t

3. Consider the followingf\e{rents and arrange them in |4
correct chronological oﬁér starting from the earliest
to the last activity : o
1. Royal Indian Navy Revolt
2.  Announcement of Cabinet Mission
3. Formation of Interim Government
4.  Arrival of a UK Parliamentary Delegation in

Delhi ’

Select the correct answer from the codes given below -
(@ 4,1,2,3 (b) 4,3,2,1

(c) 2,413 u(p) 4,2,1,3
™=

4. Consider the followmg‘,.s\tflements with reference to
the Justice Party : <

1.  The Justice Party rapiposed Congress by callin
it a Brahmin dominated organisation, &

2. It claimed lhe.samc communal representation
for non-Brahmms‘as the Morley-Minq reforms
had given to Muslims.

Which of the above statements is/are correct 9

(a) Neither Inor2  (b) Both]ang 2

(d) Only]
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e Ug dieed 9l F g 7 Frefafad s w

frem ifs -

1. 9 e diegE il e 1927 A g i
& Aflaer Rty e 1 &9 g

2. 3E U FT T FIG & fcnid & HH FET o7
Tt guen! arfire shifaeTdl T el U ik
HATH ST =T EITS ST S E |

T BT/ T T /8 ?

(b) 1323AT

(d) ad |

(c)

frerffan wedt w Rrem Hif qor 7 e |
Faftd ifer

1. $eifem wifamE E%%
2. e e wEfiE =2
3. Ifemmammdd

4. Efeg uaifaem

(@ 1,3,2,4 () 1,2,4,3

(c) 1,2,3,4 (d 2,1,4,3

frafafgs gearelt @ fam fifvT qur == @&
FHreTgFA § SHafeud Hifsg, Fed Ted § At Al
Tfafafir oo

1. S s e e

2. e frem < 9o

3. Al SR &1 T .

4. Tafew vada wfaffinres @ oot & some
@) 4,123 | (b) 4,3,2,1

() 2,413 (d) 4,2,1,3

sifted ardt & gt & Fraferfiaa et o faem fifsa
1. e w3 Fim @ faly 38w s nE

JTeAT WIS e T |

2. 3o TR & fae S & weweifes et
a1 = fon st i arel-fiey gum ¥ qaemE
! fearan|

Ih & FH-A1/A T w6 AR 2

OEECSEGFIE
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5, Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).
Assertion (A) : The value of national currency

determined by demand and supply of foreign
currency is called flexible exchange rate,

Reason (R) : Demand and supply of the foreign
currency is being determined by the Central Bank.
Select the correct answer from the codes given below :
(@ (A) is false, but (R) is true.

(b) Both (A) and (R) are true and (R) is the correct
explanation of (A).

(A) is true, but (R) is false.

Both (A) and (R) are true, but (R)‘is not the
correct explanation of (A).

(c)
@

6. Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).

Assertion (A) : There is a positive relationship
between Human Development Index (HDI) and the
Sustainable Development Goals (SDGs) rankmg of
Indian States.

Reason (R) : The undcrlymg dimensions of SDG
targets are closely related to education and health
aspects.

Select the correct answer from the codes given below :
(a) (A)is false, but (R) is true.

' (b) Both (A) and (R) are true, but (R) is nof the
correct explanation of (A).

(c) (A) is true, but (R) is false. ;
(d) Both (A) and (R) are true and (R) is the correct
: explanation of (A).
a
\L A
Match List-I with List-Il and choose the correct

answer using the codes given below the lists :

DST.F-1-23

5, ey R d S 9 vt afiee (A) qur

TR H T (R) HE TR |
Tfveu (A) : TST T3 37 € Hea S faef g
st afe ATl BT o e @, 39 T Rfrm s wEd 2
T (R) ¢ Ferduft wpzm ot wim of s =l & g
Protfadd 2
ﬁmm@ﬁﬁaﬁmﬁﬁq

@ (A)TEAE, %-‘g[(R)Hﬁél
®) (A)W(R)aﬁw%aﬁtm (A) & T&

: TG HT 2 |

| "

(A) T (R) 1 wet €, fFg (R), (A) F T
T TE FAT R |

:n%a‘rmﬁwz% it & o 1 srfireu (A) o
_'_zg’(-q-?rmm)mw@
* aftem (A) : A e gaEE (E@Ea) o
o o e () O S R
_gﬁggﬁmmm%

| ST (R) : Ha Forehre el & ST ATt
| :mqaﬁmafrqﬁsm%mmél

@)

Ay T R) 3w f (R), (A)
) T AT R |
L) (A)FEE, g R) TR |

= ¥ hifsrg 3 %vﬁéﬁt
® @mﬁmw o

i B i %)
()

&

o2
# =%

List-I List-1I
(State) (Rank according to expenditure
on infrastructure 2019 — 23)
A. Maharashtra 1. First
B. Uttar Pradesh 2. Second
C. Tamil Nadu 3. Third
% D. Karnataka 4. Fourth
d Codes :
- A B C D
(@ 2 | 3 4
® 1 2 3 4
) 2 3 1 4
d 4 1 2 3
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10.

11.

12.

The Concurrent list of the Indian Constitution
includes :

1.  Trade and Commerce @&a

2. Adulteration of Goods @}

1. Succession

Sclect the correet answer from the codes given below :
(@) 1, 2ondd (by 1andl

(¢) 2and3 Il M(d) Only |

Fathima Beevi died n:‘c%\plly. Consider the following

statements regarding her:

1. She was the first woman judge of the Supreme
Court of India. | ™/

2. She served as the Governor of Kerala from
1997 - 2001.

3. She was the first Muslim woman to enter into
higher judiciary.

Select the correct answer from the codes given below :

(a) land3 (b) land2

(c) 1,2and3 (d) Onlyl

With reference to the ‘T!ﬁl‘htional Intellectual Property
Rights Policy'’ consider the following statements :

I. It reiterates India’s commitment to Doha
Development Agendaand the TRIPS agreement.

2. Department of lndu§tr}al Policy and Promotion is
the nodal agency' for regulating Intellectual
Property Rights in India.

Which of the above statements is/are correct ?

(a) Neither I nor2 (b) Only2

(c) Both1land2 (d) Onlyl

Which Amendment Acts deal with Local Governance
Institutions in India ?

(a) 86 and 87 AmF_nc}lmem Acts
) 63 and 64" Amendment Acts
() 73" and 74" Amendment Acts
(d) 42" and 437 Amendment Acts

i~

. Y .
Consider the following statements with reference to

(

11.

Special Officer for Linguistic Minorities : 12,
1. In the Constitution, there is a provision for the
post of Special Officer for Linguistic Minorities
for every State.
2. A new Article 350 B was added for this by the
oth Constitution Amendment Act.
Which of the above statements is/are correct ?
(a) Neither 1 nor2 (b) Only2
(c) Both1and2 (d) Only]
------------------------------------ = _.4..;-----.

19

DST.F-1-23

I Hiferersr oy arperdf oeft o mfirer #/8 -
1. = ug arfirsg

2, wmmtH fremae

3. Iaufren

e fow o g 1 @ w3

(a) 1,233 (b) 133
(c) 233 () Faa]

wife_afeft e A F Foe mep ) e AR H

Frerfifias @t ot frem Fifdre -

L. gm%@wﬁwmm

|

2-F%1X 1997 — 2001 % A TT F TSI % T H
Famd o 4 |

3. T Ieue AR 9 Tge ATl vee Jftem
Afge ot |

ﬁﬁqw ﬁﬁﬂ'&ﬁ’mﬂﬁﬂ:
A () 132

yl,zaﬂu (d) Fad 1

“utn few geer sfmR AR F @ #

FrfatEa Fuat ot faar hiterg ;

1. I8 31 R weeer 3t i amsia & aia 9id
H vfoagar Freuar 2 |

2. rdfis Aif ok gy fovm, wa § aifes
e e F s w9 F fou =%

a2 |

I H & P/ A HE 2/ ?
(@) TAM1TE2 (b) Fae2

O 0

F-|1 oA sfafag ara § v e g s
efaa g ?

(a) 86al 3R 874t HygA rfifam

(b) 633t 3T 64at wvIre rfufam

(d) 42af 3 43af wamre rfufay

Wl sreuEEE & foe fade sfuewrd & vt F

frefafaa wua « faam Sifsg -

|, feud §, e Tsa 3 IRl seereht &
foru Fardry sxfirapTtt 3 42 1 g fRT T R )

5 oF wfaum wyie aifuftaw g e foY oF
a1 3T7=E 350 B g1 T

Wﬁam-wﬂmnﬁ%fﬁ?

() Tar1AE2 (b) FEE2
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: ;;3_'_ leeﬂ below are two Statements, one DST.F-1-23
“ Assertion (A) and the other ¢ Reaso (1‘1'5) labelled as| g3, =9 2 o Ru e €, fedt & w =t ifirwem (A) T
tion (A) : M
Asser('i y Br)msh Ost of the early nagic 1. :ﬁ(ﬁm (R)EFEI.YI?JT%I _'
considere rule as gy act tonalists aTfrERaA (A) ¢ ¥ & wfey #
destined to bring modemisatiop, of providence

: frfer ot 370 o e a1 T Iiyg smyfehieRT
Reason (R) : They comp

1
«Un-British rule” in India, T "e0 Only  against :rmmurm(llz) : IR Rreraa et i § <om-RRw v
Select the correct answer from the codes given ¥ faam® ’ff |
(@ (AYisfalse, but (R) is true, T e R e T
() ?;ic(:tl a]l;([i] ER) are true, but (R) s not the (a) (A e &, g (R) TR |
planation of (), A) 3 (R) 2Ft T €, fRg (R), (A) 1 W&
(© (A) is true, but (R) is false, ®) ;I,%#mg I , ’
§ d) Both (A) and (R) are try ;
( explanation of (A).re ® and (R is the correct © (AT FIR) il

14. Which one of the following statements j
about William A.J. Archbold ? IS not correct —

. Gftem o3, s ¥ wd § fefifes # @
(a) He was the Principal of Lahore College 1 EaCs amqprél F2 2
Lahore. ’ ; il ) '
(b) He was the Principal of G )
iy overnment College, ®) %WE‘?@ ZTHT & 9T o |
(c) He was the Principal of the Muir Central () il % ?ﬂaa * L

College, Allahabad. @ A THLIA. FA, 37eTg F =EE |

'(d) Hewas the Principal of MAO College, Aligarh. |15 frgfirfiad weameil W faaw Hifvw qur 3¢ wiy &
15. Consider the following events and arrange them in| ~ FiePriig '

chronological order starting from the earliest : 1 Jean fagiE
1. Vellore Mutiny 2. T GEUEE S g Eg[%l‘
2. Death of Nana Fadnavis 3 YN F IO AT &=
3. Recall of Wellesley 4, UrEAr-AqTeRt I
4. Anglo-Nepalese War = frgm e T YR I g :
‘Select the correct answer from the codes given below : (@ 4,1,3,2 =T (b)) 2,3,1,4
(@ 4,1,3,2 (b) 2,3,1,4 () 3,1,2,4 %\i d 2,3,4,1
© 3,1,2,4 (@ 2,341 ™
16. tﬁﬁlﬁ@ﬂ%gﬁ%ﬁﬁmaﬁt@%ﬂ%ﬁq
16. Match List-] with List-I1 and choose the correct ‘TQEECEFTSI’&FT TR TR aﬁq
answer using the codes given below the lists : iy a1
List-I List-I1 >
(Revolt) (Leader) (ﬁﬁ?) { iici i iiii.i)
A. Paika Revolt 1. Edachena Kungan A. g fasre 1. GSEATH™
B. Bareilly Revolt 2. Radharam ‘ B. aeh fase 2. TaUH
C. Malabar Revolt 3. Mufti Muhammad Aiwaz C. weER fge 3. el HiEwE
D. Sylhet Revolt 4. Jagabandhu Bidyadhar D. faee fagie Ta) 4 Wﬁgfaamtqgrm
Mahapatra wHE : P
Codes : A B St D
A B C D (@) 3 4 5
A L LR
® 4 3 1 2 !.?%% © 2 1 ¢4 4
© 2 1 3 4 = @ 3 2
e @ 3 2 1 4 4
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17.

18.

19.

20.

Memorial and

With “Kohima Peace .
ith reference to the ments is/are

Eco-Park” which of the following state

correct ? )

. IHs inauguration programme Was
gth March, 2024 at Kohima.

2. It will be developed by South Korea.
iven below :

held on

Select the correct answer from the codes g
(@) Neither1nor2  (b) Only2
(c) Bothland2 (d) Onlyl

With reference to “Mobility Arrangement for
Talented Early-professionals Scheme” (MATES),
which of the following statements is/are ;il’f;ﬁeﬂ ?

1.  This is a bilateral framework bem'l;gﬁ India and
Australia. 0 .

2. In this scheme Indian gradﬁ{t'es (aged
18 — 30) with knowledge and ski{l; n specific
fields of study will be offered to live and work
in Australia for up to two years.

Select the correct answer from the codes given below :

(a) Neither 1 nor2 (b) Only2

(c) Bothland2 (d) Onlyl

With reference to the International C?nt;creuce on
Nuclear Security (ICONS - 2024), ijgh of the
following statements is/are correct 7 <}

1. This conference was held on 25" May, 2024,

2. India has recently reconsﬁl ted an
inter-ministerial Counter Nuclearp Smuggling
Team (CNST) to strengthen the nuclear security.

Select the correct answer from the codes given below :

(a) Neither 1 nor 2 (b) Only2

(c) Both!and2 (d) Only 1

With reference to the “Pirul Lao - Paise Pao”
campaign, which of the following statements is/are
correct ?
1. This is related to reduce forest lfites and to
. . T
provide a source of income to villagers,
‘:‘ } 3
2. The Chief Minister of Uttarakha‘.m{\lj launched
this campaign. =i

.

Select the correct answer from the codes g:_\?dn below :
(a) Neither 1 nor2

(b) Only?2 )
(c) Both1and2 (d) Only 1 E}!&%

17.

18.

(© 1shdE

19.

20.

DST.F-1-23
“zhifemn wiifa T iR gt & v 7 Praforfaa
TA R TG /2 ?

1. 36 IR FRAN 8 W, 2024 H Hifewn §
e foRar |

2. TR P i g feiaa ferar stme |

:ﬂ%ﬁqmagﬁaaﬁmgﬁq:
O ¢) 2
(c) 1323 (d) Faa 1

wgfinmremelt yrfive 9E % fog nioeiierar SEEwn

AT (MATES), 3 g & freferfiaa & & s-w@

FUTTER/E?

1. 7% Wi ik s ferar ¥ +fte o R gt 21

2. T AT § aread & fafire &t ¥ st e
1 Wl T (18 § 30 9 o o) A T
A sireferT i Y ot wW Y i Ty A
St |

H Ry e § @ v s AT

(@) FaAr1Td&2 (b) HaA2

(d) Faal

QU] T T LT FHe (ICONS - 2024) F

g § Frafafaa T A AA-arA A g 278 2

1. 9% gAIeH 25 1, 2024 Y ST ToRam T o |

2. VI ¥ Tl 9 qO] gea S AeEd S & A
T SF-FATer T e ferdiedt 21 (CNST) 1
REUCEACRI]

_ﬁﬁqﬂﬁﬁﬁﬁﬂﬂﬁ(ﬂﬁ?:

(b)) FEA2
(d) Faa 1

(@ TAA1TR2
(c) 13fT23m

et ATl - 3 wreir ifrm & wwd | Fafafiaa

4 HH-G/A T T 878 ?

1. o ST Y ST HH A AT AT Y T
e H  WEfa 2 |

2. TGS o GEAAT § 39 ST Y e i |

9 R e § & w IR %ﬁ

(@ FdrIFE2 (b) aw2
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r the following mountains ang

C :::j:ct order from West to Eagt by th::;:ci\ii:}:'m

’ Karakoram 2. Pontic

5 HinduKush 4. Zagros

oot he core ct answer from the codeg given below

(3 2,3,4,1 @ -2,42.1

@ 4123 @ 4231 =he
Ok

Which one of the following pairs (River —
is not correctly matched ?

(a) SyrDarya — North-West
(b) Amur river — North-East
(c) Mekong river — South-West
(d) Angara river — North

which one  of  fthe
(Country — Oil field) is not correctly matched ?

(a) Kuwait — Kashagan
(b) Iran — Haft Kel
(c) Iraq . —  Zubair

(d) SaudiArabia - Dhahran

Consider the following statements with reference to
Mediterranean climate :

1. Itreceives rainfall in winter season.

2. Due to winter solstice, air pressure belts shift to
the South.

Which of the above statements is/are correct ?
(@ NeitherInor2 (b) Only2
(c) Bothland?2 (d) Onlyl

Consider the following statements with respect to the
climate of Western Europe :

l.  Western Europe receives rainfall in all months.

2. Westem Europe is located in the belt of
Westerlies.

Which of the above statements is/are correct 7
(@  Neither 1 nor 2

(®) Both1and?2

©) oOnly2

Direction) { 22

follomng pairs [ -

=
(d) HHAT I - HIEH ST

_ X

DST.F-1-23

(z) e e T T IR T 7 T w0 &

Wqﬁﬂﬁ{iﬁﬁtmmﬁmm

. R 2. diftes
3. %’.-‘cég;!l' 4, wUE

@ 4,2,3,1

(ﬂ) 2, 3, 4: 1
(C) 4r l: 2: |3'r.‘

o it e e e e -2 e
aﬁqﬁﬁfmwﬁ%?
(a) ﬁrzﬁ:ﬂn’“xl —  IwuEd

(®) SFEFT - ST

(d) e - W

Frfrfiaa gt (R — A &) F | - v gafer
et 27

(b) A [;{ — A
© fm (- g

™~
eEETE siearg § wed #§ Frafafaa s @
e i :
1. gl viawg d i St 1
2. il sria % Hrwr awee Yt afior fi

I e Tt & |
ST A & -/ T T/ /A2
(@) TAr1Td2 (b) FaA2

l (d) Fae1

a9 aﬁm ¥ day  Frffas R @
feram Sifsre w

1. Qﬁw@qﬁmﬂmﬁaﬂfﬁ?ﬁ%l

2. et o wgar e 1 39 3 srt R 2 |
ST § ¥ w2 0

(@ FTar1T82

(b) 13 2EM

() Fas2

(d) Faer1



Highlight

Highlight

Highlight

Highlight

Highlight

Highlight


DST.F.

& : to|26. =l i ¥ Aerh 2
26.  Consider the following statements with reference M‘T‘T% ﬁaaalg aﬁ%mﬁﬁ'ﬂqﬁm
Upper Gangetic agro-climatic reglon ¢ tern | . s :
cs : F=
I.  This region encompasses central and W ) RH . T gt I wewr i forga g
Uttar Pradesh. . - ¥ 8§ Rierd e 130% ¥ 3w
2. This region has mof¢ than 130% IMIES o 140% 2
intensity and 140% c_rto ping intensity- ﬁmmﬁﬁﬁaﬁmgﬁq;
Which of the above statements is/are correct 7 (@ Farad2 (b) 132 3R
(@) Neither 1 nor 2 (ﬁl Both 1and 2 (©) a2 —
() Only2 (dfl Only 1
27. x 11 & gifra iR “f““"
27. Match Listl with List1l and choose the comee! ﬁﬁﬁliﬂiw T ™ Y
answer using the codes given below the lists : W :
List-1 List-11 e kI
=i <o Level) @) (T3 7T 8 FaTg)
Height from Sea LeV '
Hasy (Height A. e 1. 5360 e
A. Debsa 1. 5369 metres —_—
= B. jigam
B. Rohtang 2. 4850 metres ' g 2. 48507
C. Baradacha 3. 3978 metres C. S 3. 39787
D. Banihal 4. 2832 metres D. e 4, 283270
Codes : - T
A B C D A B E, g
@ 3 1 2 4 @ 3 1 2 4
® 1 3 2 4 ® 1 3 2 4
() 3 1 4 2 © 3 1 4 2
d 1 4 2 3 E4e d 1 4 2
@ S @
28. Given below are two staté&?ents, one is labelled as S S
Assertion (A) and the olhef;h']s Reason (R). 28. Y aﬁm ﬁ(&)m{ i 2 = (&)
™ T (R) el T & |
Assertion (A) : Jute is an indigenous plant of India. °
& 00 = s ‘éb . ARTRYA (A) : T W 1 faga a2 |
eason : Jute is a-Kharil crop sown from
’ FHROT (R) : 5 Gl% H Fh Tl ¥
February to June and harvested from July to Octob ®R) : 9 " & T
¥ia Laciober. ST ST & AT TS & ST 35 R T S 8|
Select the correct answer from the codes given below : s mwaﬁﬁﬁ T IR
(2) (A)is false, but (R) is true. ) -
ks @ (A)TEEE g R ER
(b) Both (A) and (R) are true and (R) is the correct b (A) 3 R A @l ¥ el ), (A) HH
explanation of (A). (b)
T H 8 |
A) is true, but (R) i
(C) ( ) (R-) 18 falsc. (c) (A) H‘tﬁ %, ﬁﬂ (R) W% l
(d) Both (A) and (R) are true, but (R) is mot the
correct explanation of (A),
£71
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F Match List-] with List-I1 anq choose

answer using the codes given belgy, the [isl[};c' Correct
List-1 List-I1 '
(Author) (Book)
i 1. ACo ;
A ([:;aol::]‘l India T'?‘Lzhg?]::;eg}::‘slory of
B. Habib fand 2. The Economie Life anat
Nizami Northemn India of

c. KS.lLal 3. Early Chauhap Dynastjes

p. Dasharatha 4. History of the Khaljis
Sharma

=
Codes : [Ghe

A B C D
@ !z 3 4
®) 2 1 4 3
© 3 4 1 2

4 3 2 1

Consider the following statements -

1. Kunwar Singh, Landlord of Jagdishpur in
Bihar, led the rebellion against the British

2 Lorq Dalhou§ie r_ecognised the adopted :qon of
Rani Lakshmi Bai as the heir apparent.

Which of the above statements is/are correct ?

(a) Neither 1 nor 2 (b) Only2

(c) Both1and2 (d) Only1 (

Consider the following foreign travellers and arrange

them in ascending chronological order :

1. I-Tsing

2. Al-Biruni

3. Huentsang (Hiuen Tsang)

4. Fahyan (Fa-Hien)

Select the correct answer from the codes given below :

(a) 4,3,1,2 (b) 1,2,3,4

(c) 3,4,2,1 d 2,1,4,3

Given below are two statements, one is labelled as

Assertion (A) and the other as Reason (R).

Assertion (A) : Balban made his government firm

and centralised all authority in his hands.

Reason (R) : He wanted to protect the north-west

frontier against Mongol invasions.

Select the correct answer from the codes given below :

(8) (A)is false, but (R) is true.

(b) Both (A) and (R) are true and (R) is the correct
explanation of (A).

(¢) (A)is true, but (R) is false.

(d) Both (A) and (R) are true, but (R) is nof the

DST.F-1-23
29, @.13&@-“@@%?[%%(?@'&?%%@
T 2 T AT HEE I AT :
eI 11
GLCED, (%)
A. dees 1. 37 il fewdht aive ifan
:ﬁqm'r::‘ 2 feech e
B. EfA U 2. @ SHEIN gH A A1dA
EEILigY Hie
Cc. T HE 3. el e s
D. 4. fe&h oite g wersftsr
T:!fd‘ s

A B C D

(c) ! ! 1 2

(d) 4 3 2 1

30. Pefafas A w Em i
1 feww A s 3 srfter, e e ¥ ofdt
Fores: AT 1 et vt
2. e TRt A T dat @1 % Faw gF H
YT B ) HI=rT Yo # |
o T & R/ Fo W /R
@ AWITE2 (b) Fae2
(&) ¥l

=ylaﬂtza’ﬂ’r

@ Frefiafian el arfi o fereme i e 373 STt
SHITHAITAR qa e Shiferg :
1. Sﬁéﬂm
2. Hed- EiE
3. g é'gﬁl

=

32. A FuTRETCE, T & o w5 sl (A) T
ZE N R (R) FET TR |
awﬁmv:rn?&): T o Y AEH i Ggg T 3
TPt | Y 319 B o Shfeea w fora |
®WRT (R) : 98 IA-UEm Himy &1 9o ammeaey &
YURad AT TEar ot |
ﬁﬁqwgﬁﬂuﬁmﬁm:

(a) (A) 7oA g, ﬁ (Rilﬁﬁ% [

(© (AT, g R) e R
() (A) 71 (R) 3T W &, feg (R), (A) i 7

4. WA

A fru e e 3 & wd SR
i () 1,2,3,4
(c) 3,4,241 d 2,1,4,3

correct explanation of (A).

AT Tt Far g |
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33.

34.

35.

36.

37.

.....................

ct, 1891
With reference to the Age of Consent AC

consider the following statements :

1. It was Behramji Malabari, 2 C
from BOmbﬂly,J who advocated for this
legislation. st wing

2. The Act was supported by the extr
led by Bal Gangadhar Tilak. g
Which of the %\ ¢ statements is/are correct
(@) Neither Lpor2 (b) Only2

(c) Both1and2 (d) Onlyl:

Given below a¥é two statements, 6ife”is labelled as

Assertion (A) :{ﬁt{sﬂle other as Reason (R)- .

Assertion (A)(:\' ‘Shivaji had to face opposition

the big Deshmukhs. .

Reason (R) : These Deshmukhs were not in favour

of an independent Maratha State and wanted to

remain as feudal lords of Bijapur.

Select the correct answer from the codes given below :

(a) (A)is false, but (R) is true.

(b) Both (A) and (R) are true and (R) is the correct
explanation of (A). Q%%

(¢) (A)is true, but (R) is false. i

(d)

from

e

Both (A)-and (R) are true, but (R) is nof the
correct e)lé‘]’gmation of (A).
Which of the fo'!l‘lowing reasons caused catastrophic

coral bleaching~ and mass coral deaths in the
Andaman and Ni¢obar Islands ?

(a) Increase {off 2° C temperature in the Indian
Ocean -

(b) Increased industrial activities in the coastal
regions

(c) Decrease of temperature by 4° C in the Indian
Ocean

Heavy marine pollution

(d)
Consider the following statements with respect to
Ashoka:

1. The definition of Dhamma given by Ashoka is
taken from “Rahulovada-sutta”.

2. In the l&t}? year of his coronation, Ashoka
appointed-, @ new type of staff, called
Dhamma—,rga.hamatras.

Which of the aboye statements is/are correct ?

(a) Neither fdor2 (b) Both!and2

(c) Only2 (d) Only 1

Which measures are essential to achieve Goal 4 of

the Sustainable Development Targets, 2030 ?

1. Making education free and compulsory

2. Improving basic school infrastructure and
embracing digital transformation

3. Expansion of agricultural programmes

4.  Increasing investment in technology

Select the correct answer from the codes given below

@ 1,2,3and4 (b) 1and2 '

(c) 1,2and3

33.

34.

3s.

36.

37.

DST.F14,
wenfa i oy aifufem, 1891 % Wl F frefyg,
Wlﬁﬂﬁ:&ﬂm:

1. WW%@WW,WWQ

521 3a e o reprera <6 oft |

2. 3 ifufam A e foee % S ay
Tft v & g e av

I T q HA-G1A Fo qE /2 ?

(@) TA 172 (b) Faw2

(c) 13Mm23A

1 3 Fo R e B, Rl & o i i (A

TELH FW (R) FETTATE | el

aTfrmRer (A) : Rrarsht 1 73 2wga o forta 7 amy
SETIET |

HROT (R) : ¥ @ T q0ST TS & 0 F T g
i & gTid € o3 A Ted o |

2 e M e & & wt W AT
(a) (A)Te@ e, g R) TE R

© (AFE FgER) TR
d) (A) 3 (R) aHT w& &, fHg (R), (A) F &
ST T FAT & |

sigam T e doame 7 Frefafaa 7 @ faa s
?

(@) o= wemmRFamEEE 2° c R e i

(c) T WETaTR & aTgHE | 4° C HrFH =

(d) T AT wguoT

i & gy § Frefafga st w femm Hifs -

|, ofe I ww & S ufwr dF @, q
“TEAERT U TR |

2. o[ TSAE ¥ 149 ad o 7Tk 3 TG
T U A WehTL o ey <t Fgfen i )

I & HA-HUA FUT W T ?

(@) FA1TE2 (b) 1 #R2EHT

() wad?2 (d) Fael

Haq fae @eg, 2030 ¥ TRT 4 H IW HW & o

FH-a1A I AT 8/3 2

1. e fryes o stfard s

2. *@gﬁ%gﬁuﬁaﬁﬁ@maﬁr%ﬁmqﬁaﬁ
1 ITIAMT ‘

3. i HREAI ol R

4 srenfieh frawd i

3 R o e & @ W IWCYAT
@ 1,2,334
© 233 @ F|
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to E i
g with reference 10 Economic Growth, which of (he

8. follo“’i“g statements' is/are correct 9
|, Indian Economy IS an Underdevelopeq Econom
2. [ndian Economy is a Mixed Economy_ *
3. M. Keynes is the Father of Economjs,
select the correct answer from the codes given below :
) Only 3 is correct. '
) Only 1 and 2 are correct. EBYE
@ Only 2 and 3 are correct. E%i’ﬂ
) Only 1 is correct.
| :t.I contains the names of countr
9. E‘;_“ shows the Rank as rcmittancesn ?el::Eve‘:i’hile)rf}?z
year 2022. Matcl3 List-I with List-II and choose the
correct answer using the codes given below the lists :
List-1 List-1I
(Country) (Rank)
A Mexico 1. First
B. China 2. Second
C. India 3. Third
D. Philippines 4. Fourth
Codes :
A B C D
(@ 2 3 1 4
) 4 1 2 3
© 1 2 3 4
@ 3 4 2 1
. With reference to India, consider the following
events :

1. Nationalisation of Banks

2. Formation of Regional Rural Banks

3. Adoption of villages by Bank Branches

Which of the above events can be considered as steps
taken to achieve “financial inclusion in India”?

(@ 1,2and3 (b) Only2and3

(c) Only3 (d) Onlyland2

L With reference to *“National Food Security Act”,

. 7
which of the following statements are correct !

I It will cover up to 75% rural and 50% urban

population.

2. It has special focus on nutritional support to
women and children.

3. It was enforced on July 5, 2010.

Codes :

(@) 1and 3 are correct.
(b) 2and 3 are correct.

(©)

1 and 2 are correct.

38.

39.

40.

41.

.........................

DST.F-1-23
anifier wigfe & Tt 8, Fraffas & & - Fe

TR
1. Tt STdaae U reafaid sdsae 2 |

o wdta srdeaeen o fifi e 1
3. SNuH. I ITANE & FH € |

3 frg T e 8 wE I T

(@) FaA3ITAR

(d)
;Eaﬁ-[ﬁéwﬁé;w%,aa%@-nﬁaézozzﬁ
et g st E AT R (G) F STET aar
w%|@.lﬁ{aﬁ-uﬁgﬁazﬁﬁqaﬂt@ﬁ%

:ﬁ%ﬁqu&ﬁﬂﬂﬁﬂﬂﬁl‘(ﬂﬁq:
el (I
@, <+ @)

A. BfeEr f,;{ quq

B. = ~2. faeda

C. wid O T i

D. fefdi| 4. =qd

w2 :

A B C D

® 4 1 2 3

© 1 2 3 4

@ 3 4 2 1
@%mﬁﬁ,ﬁnﬁf@anﬁ@mﬁwﬁm:
1. ST o T -~

2. et ooy St A

3. wrared g i g ST

I vl # & foRl/fened «wia | forfra wwma

mﬁ%ﬁmwmwwm%?
(b) Fa 233

(c) a3 (d) Faet 1R 2
“efta T gean st Fwed f fafafea s @
FA-AFUA AT 9
1. :}gq?%umaﬁxw%mﬁmmﬁmﬂa
| .
2. |H Afearell iR sr=at @rydreor wnde o faRi
o feamar | P

3. TSI, 201oaﬁmﬁwm|
. y \

T

(@) 133 udd i~
(b) 23M3wHT )
(d) l.2~3ﬁ'(311ﬁ§|

......................................
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42,

43.

44,

45.

46.

correct
Which of the following stnteme;ts are
i ce
regarding ICT based e-Governan
l.  e-Governance reduces the transp

Government. vernment.
2. e-Governance reduces the cost of GO

e input into
3.  e-Governance increases citizens 0P

Government. buckRiic l

arency of

4.  e-Governance increases

o apism. -' low :
Select the correct answer from th’“’“ll be
(@ 2and3 ) %

(¢) 2,3and4 (d) 1,2and3 |

The UPSC derives its functions from which of the
following sources ?

1. The Constitution

2. Parliamentary Laws ' ‘El%g

3. Executive Rules and Orders &

4. Conventions - '

Select the correct answer from thé.Eddes given below :
(@ land3 (®) 1@2(1 )

(©) 1,2,3and4 @) 0«'11\}’ 1

Which one of the following is correctly matched ?
Constitutional Body (! Constitutional

{™. Article
(a) National Commission - 148
for Scheduled Castes
(b) Election Commission - 165
(¢) National Commission - 340
for Backward Classes
(d) Finance Commission ~ 263

Identify the correct chronolo
following :

l. Shankari Prasad vs. Union of India

2. Sajjan Singh vs. State of Rhjasthan

3. Golaknath vs. State of Punib

4. Kesavananda Bharati vs, Stafe of Kerala

Select the correct answer from th  Codes given below -
(a) 31 2) l; 4 (b) K

1r4,3,2
() 3,4,2,1 (d) 1,2,3,4

Given below are two statements, one {5 labelled ag
Assertion (A) and the other ag Reason (R).

Assertion (A) Article 357 of the Indian
Constitution deals with the declaratiop of an
emergency.

Reason (R) : An emerg
time.

gical sequence of the

ENCy may take Place at any

Select the correct answer from the codes o .
(a) (A)is false, but (R) is trye, " on below :
(b) BOlh (A) and (R) are tmé,r“bul R) i

correct explanation of (A).™ (R) is nof the
(€) (A)is true, but (R) is fajse
(d) Both (A) and (R) are true

(N
. nd (R) i
explanation of (A). :I: ) is the correct

..........
..................

42,

44.

46.

IEH A, s

DSt
TR ¥ wry 2
FHA T EE E 0 ﬁﬁt"\%ﬁ‘%:;,g%
N é‘"ﬁqmaﬁwﬁmﬁmmm "
2. i-na?rqﬁmﬁmmg}

3. *ﬁﬂﬁ?ﬁaﬂxm 5
4.  wod
ﬁﬁqﬁq%ﬁ%ﬁmgﬁq;
(@) 133 £y 132
(d) Fae |
ﬁq%%aﬁﬁﬂq.m@m@m%?
wifoenfas e Aiftrurhrs

-

A=Y
(2) U srafta fy s 148
(b) ﬁa{?ﬁm - 165

19.

13 Ry e B 3wl R
(@ 3,2,1,4 (b) 1,4,3,2
() 3,4,2,1

ﬁﬂwmwﬁ,ﬁﬂggwgaﬁwq(mm

H FETATR |
R TR 352

st (A) : v d@faum @

ammmraﬁ?(&zrﬁrsﬁrgmn%ﬁﬁﬁmﬁl

WO (R) : e fufa et oft ama o= @

gl e |

e fem e e o @ wE I

(@) (A)TEaE fEg R wR -y

() (A) T (R) 3 & E, g (R), (A)
STEAT 7T T8 |

€ (AT FgR)TEae|
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9.

.+ of the following freedoms ;
;";hg: Indian Constitution under Ar:lsc l';oltgg;xaranteed
@ Freedom 0 OWD, acquire and g
property _ pose of
®) Freedom 10 assemble peacefully ang iy

arms
reedom to practise any trade )
(‘é)) ;recdom to move freely throuy ;1; oplf:’tfgzsgn
Given below 21 two statements, one js 1abelr3try
Assertion (A) and the Olht;r as Reason ®). ed as
ssertion (A) : According o the Constitution of
[ndia, the same person cannot functiop asn“?
Goveror of two or more States at the same tim )
Reason (R) @ Article 153 of the Indian C0nst‘et;1 ,
states that there shall be a Governor for each § t; t tion
Select the correct answer from the codes g?ven
ow !

?:)l (A)ﬂils(f;l)se, lzjul(%) is true.

Bo an are true )
() correct explanation of (A). , but (R) is not the
©) (A)ﬂ:ils(il;e’ bc‘ln(i(g) is false.

Both (A) and (R) are true and (R) i
i explanation of (A). (R) is the correct
which one of the following pairs is not correctly
matched ?

(a) Equality of — Guaranteed only to
opportunity in public  Indian citizens
employment

(b) Equality before — Guaranteed to both
Law citizens and

non-citizens

(¢) Altering the name of — Power of a State
a State Legislature

(d) Creating a new State — Power of Parliament

Match List-1 and List-Il and choose the correct
answer from the codes given below the lists :

List-I List-IT
A. Consolidated Fund of India 1. Article 266
B. Finance Commission 2. Article 360
C. Financial Emergency 3. Article 280
D. Comptroller and Auditor 4. Article 148
General of India
Codes :
A B C D
(a) 4 1 3 2
by 3 1 2 4 E%g
©@ 1 2 3 4 @
(d) 1 3 2 4 '
Which of the following are envisaged by the Right
of India ?

against Exploitation in the Constitution

L. Abolition of untouchability

2. Prohibition of human traffi
labour

3. Prohibition of employment of

factories and mines

Protection of interests of minorities

tlect the correct answer from the codes giv

3 3and4 (b) 2and3

cking and forced

children in

en below :

DST.F-1-23
47. Yom=oq 19 ¥ st Preafafiad § & wa-d T
r—ﬁ/)liﬁﬂﬁmnﬂfrﬂa‘fzﬁnéfv

riferqeren auT ferT TR o O aaaan’

)

?:) foreft SATIR STUET SATETT I FH H EAAAL
() ot 297 FeOTIER g-f i T

48, o Ry e E, e & o @ e (A) T

@A TULR) TR
s @ =i

R wiew %
NCR kel 3@ e T 3 T 9
qU A T

|
T (R) ; MR G % e 153 | 4§ FE
%ggﬁmm__#’m@maml

T

(b) (A) @ (R) e g, g (R), (A)
ST TE AT R |
(A) TR 2, FRg (R) T 2 |

@ (A) T (R) I wE T R
AT AT 2 |

ﬁn%@ﬂﬁﬁﬂmﬁsﬁ%wﬁaﬂwaaﬁ%?
_  ¥ad E & TmiEht &

*r wdr
e

=

(c) At
(R), (A) HI &l

49,

- #nrﬂ;ﬁqa'ﬁt-wrﬂﬁaﬁ%
R EIERE IR _

-
(d) {?mﬁrmtrw::q?r ~ dugHr ke
ﬁ@mﬁuﬁﬁaﬁﬁqaﬂwﬁﬁ%:ﬁ%ﬁq
50. -1 11
E&d}i&mmwn\%ﬁmgﬁq;
SR
IR 266

. 3T 360
. TR 280
. 3TF=OT 148

S

STOYTHAT T 3=

TG 3 SATIR 39K el 49 5 Ry
FICET! 3 @ar] & sreai it wergd By
4. SFcqEETeh % fedi £ guan .
ﬁﬁgmﬁﬁﬁqﬁ
{ a

1.
2
3.
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DSt
54 {yith reference 1o | 52. g g o & waf § Pl oo
52.  Consider the following statements ﬁaﬂﬁﬁq %Wq:n 56,
the Congress Socialist Party : rmed in . S9af 1934 ¥ 55
1® Thg; Congress Socialist Party W% ¢ | i “[é'wmﬁﬂ%ﬁa
January 1934. o ... oarty due 2.
5 Jawaharlal Nchru formally joined (1S P f AHISETE & Herpfa 81 & s Mt
: lism. TR Je% 36 & § e §u |
to his sympathy for socia et ? RSN o
Which of the above statemenP is/are €O r . 3‘@?5 A T T LB 9
(a) Neither 1 nor 2 ®) « l el “ ® 1 it 2 A
(c) Only2 (d)’ (c) m 2 (d) %ﬁa 1

. [ them in
53. Consider the following events and amange O ﬁﬂ%f@aﬂmaﬁmﬁwﬁﬁqms%mrm

chronological order :

1. Murder of Abul Fazl g%% 1. aqgaqre{a $r g

2. Death of Sheikh Mubarak 2. V@ ETH Ry 5
3.  Death of Faizi 3. aﬁﬁiﬁﬂ

4. Death of Daniyal e 4. @iy

Select the correct answer from the codes gu';en clow ﬁﬁqma@ﬁ q Hﬁmﬂﬁﬂ .

@ - 3,214 () 2,1,4,3 @ 3,2,1,4 (®) 2,1,4,3

© 2,431 @ 23,14 © 24,31 @ 2,3,1,4

54. Consider the following eventg;{md arrange them in
chronological order : =]

1. Linlithgow August Offer’:
—
2. Cripps Mission arrival m: India

54 Fmfeled semsht w fram i aor 7% Feg
Sgaf hifen ;
1. foaform = o wame

3. Ramgarh Congress Session 2. Torem firem 1 v s

4. Resignation letters of Congress Ministers 3. :IJ © '_ﬁil “. T
Select the correct answer from the codes given below : 4. P o .[ i 5 T
@ 4,3,1,2 () 3,1,4,2 A few e e & W Iwaf
© 4,231 @ 1,3,4,2 SN o 3,1,4,2
. iy E c)74,2,3,1 d) 1,3,4,2
53.  Match List-I with List-Il and choose the correct V #
answer using the codes given ‘b.elow the lists : 55. el gE-I1 @ gafaa Hifse ok gt F =
List-I ; ' List-II T T T T HHE ST IAC:
(Book) o (Writer) Teft-1 Ft-11
g- ;Ihmd\;l/ Po;lty ¢~ 1. D.D. Kosambi (T5TF) (€E)
. Inde;a onder That Was* !52 A.L. Basham A. f%:ac\m%é" f 1. 2. s
g det 3¢ I st 2. UUE AW
C. AnlIntroductionto the” '3, K p | B.
. KP.Ja FARERICS EEaT
Study of Indian History yaswal C. Q:I _ S 5 &R
D. The Early History of 4. Vi 3 3o e
. ncent Art SR .
India Smith fur D. el et ol dfer 4. ol ol R
Codes :
C TN
A B &
@ 1 2 . L k£ Bo& EAS
® 3 2 4 @ 1 2 4 3 B
© 1 4 1 b) 3 2 4 1
2 3 4 @ 1 2 3 4
@ 3 2 1 4
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Which of the following statem
wecological niche' ?
(®) Nlumbcr of species becomes Inrge iy
mchc'ul‘ natural ccosystem, i ccological
sufTicient, Tesources nre

CNLS i3 prgp true nbout

) DOII'I[“:““ SllCCiQS OCCU])y cx‘cnSiV
(b logi i I‘ . ¢ and bl’O[lllCl
( ) Domimmcc of singlc Sp i 3
CCic bcc
c & omes

minimum if the resource
cquitable in a habitat,

Number of species becomes sm
niche, if resources are sufficient

distribution s

(d)

all in ecological

Match List-1 with List-Il and ch S
answer using the codes given below the " correct

List-1 List-11

(Biosphere Reserve) (State)
A. Simlipal 1. Kerala
B. Nokrek 2. Odisha
C. Agasthyamalai 3. Assam
D. Manas 4. Meghalaya
Codes :

A B C D

(a 3 1 4 2
® 1 2 4 3 o)
) 2 4 1 3 fﬁ%@
@ 2 4 3 1

Consider the following statements :

1. Scientific investigation depends on commitment
to practical ideals.

2. Honesty is particularly important in science.

Select the correct answer from the codes given below :

(a) Both statements 1 and 2 are incorrect.
(b) Both statements 1 and 2 are correct.
(c) Statement 1 is correct, 2 is unpredictable.

Statement 1 is correct, 2 is not correct.

(d)

Which of the following is the correct order of pl
species from higher to lower order ?

() Order — Class — Phylum — Plant Kingdom
dom

ant

(b) Class - Phylum — Order — Plant King
() Plant Kingdom — Phylum - Class — Order
(d) m — Order

-
e e e e e oo e e e e e e e e reemmas e
............................

56.

57.

58.

59.

DST.F-1-23

o g & e i B %

ai i ad TE R

(@) “irpfrr uitftufie @1 & offtafefa fe o
Eg&dmmm%.?hwﬁvﬁzﬁmﬁmmﬁ
ik

(b) O ¥tarer semferat foreqa vt = fefRafirefrr Fiv
cabrcikd

() af Pt sara & gremAt F wwe o g g,
?ﬁf@%ﬁmﬁmmwﬁm%n

@-lﬁ@-llﬁgﬁ%ﬂmm@ﬁ%ﬁﬁq
mﬁmmmaﬂmgﬁm

rereft-1 St

(e f=rd) T3)
A. Effmf—ﬂma 1. &=
Bﬁha: 2. aifEm
C.  JTEGHATS 3, IEH
D. oHd 4. HaE
HT ¢

o

A B C D
(a) 3 1 4 2
® 1 2 4 3
© 2 4 L 3 %

d 4
()mz 3 1

e et o frame e :

1. (amfys e Srasfes snewt & wf gfdagar @
ke 2,

2. o fagm & $amart fav s @ a2 )

A= feq g e & & vt g

(@) FHETFAT | A2 T & |

(c) YT TR, 2 AT
(d) FUT16EE, 2HETAL R

fr=afafaa 8 @ 59w 3== @ a9 F 9t f
e 1 HEl w2

(@) 9T -1 — | — Q1Y ST
(b) = —Ha - MU - QY T

Class - Plant Kingdom — o A PO, . SOl o
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inoist operation that took

60.  With reference to the Anll-\{fi following

place in April 2024, vlich of the
statements is/are correct ? )

L. It took place in “Gadchiroli district
Maharashtra.

The operation was launched by BSF and

of

[

District Reserve Guards.
Select the correct answer from the codes given below :
(@) Neither1nor2  (b) Only2
(c) Both1and2 (JFQ Only |

61.  With reference to “PraVaHﬁ“ software developed by
ISRO, which of the fo lg'mng statements is/are

correct ?
1. It is a path-breaking feat by Vikram Sarabhai
Space Centre.

2. Initial aerodynamic design of space vehicles
requires evaluation of large pumber of

configurations.
Select the correct answer frpm the codes given below :
(@) Neither 1 nor2 @F Only 2
(c) Bothland2 ((7\! Only 1
d

62. Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).

Assertion (A) : In April 2024, India delivered the
BrahMos Supersonic Cruise Missile to Philippines.

Reason (R)
490 kilometres.

The Missile has a range of

Select the correct answer from the codes given below -

(a) (A)is false, but (R) is true.

(b) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(c) (A)istrue, but (R) is false,

(d) Both (A) and (R) are true and (R) is the correct
explanation of (A). a0

h

DST F-1-23

60. 3T 2024 BT _ArTar-fidi sitqm ¥ g
Pl d et

- e e Attt e oo

2. ¥ MR BSF (s w fefigae figyg

TS &Y fobery g |
19 fou e e # 2 vt v e
(@) Fd13d2 ‘

() 1323 ﬁ%ﬁal

61. T W T “Pravaa” WRAR & a= 7

et & & #.am aom w278

L. e fasm wmrd siafe 3 4 sl sy
.

2. iafed Smedt % wrifives arpii s 3 R
T HeE & o % g £ sravaE 2
2

Fre e my e &  wdt s g

(@) FAr19d2 ®b) FaA2

Y o

62. =r3ram fewme €, o & w i st (A) T
TG T HTT (R) FeT TATR |
arfireRerd (A) : 218 2024 T a3 relidie =1 s
T e
WHTOT (R) : foramger Y wme amar 490 framdier )
e fw e e &  wE IW M %%%

@ (A)TemE, g R TR
A AR

© (A)FRE R TEAE
(d) (A) T (R) 26T we & ot (R), (A) X HE
SET FET R |

................
............................
.......................................................
.........................................
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63

65.

which on€ of the following pairs

i is not ¢
matched regarding  peculiarigjeg orrectly

Project ?
(® Hydropower generation _
capacity
(b) pam’s length
= 825-8
Irrigated area el

Q)
(d)

6 lac hectares
Garhwal
(Uttarakhand)

Location _

Consider the following statements with reference to
cultivated arca of some countries of the world :

|. In comparison to USA, China and Japan, India
has highest geographical area under cultivation

2. India’s location in tropical monsoon region
helps diversified cropping all through the year.

Which of the above statements is/are correct 7

(a) Neitherlnor2 (b) Both1and2

() Only2 (d) Only1

Match List-I with List-II and choose the correct

answer using the codes given below the lists :
List-1 List-11 )

(Place) (Confluencing Rivers)

Alaknanda and Pindar

Alaknanda and
Bhagirathi

Devprayag 1.
B. Rudraprayag 2.
C. Kamaprayag 3. Bhagirathi and
Bhilangna
Alaknanda and
Mandakini

D. Tehri 4.

63.

64.

65.

DST.F-1-23
1 £ il 3 st & Frefaa ol
Faam-aea QA 7E ¢ ?

(a) Srfaga Wit I —
et

198 AMETRE

() smAEEmEn - ssEEWE

6 TG §FTT

() Rifwaas

() Rafy b | -

(~
fora 3 o 207 3 i A & wed F PR
oAt o R T
I USA, s afit st ) qemn § wra = Fiva
i &7 sftrraa 21
5 g T ey e i feud €7 % rer
# o wt fifrfira Faece S 2 1

suder @ FA-E/A T A AR 7

™

@ FaiTdz O

(c) Faa2

et 1 T & iR e ik g & A3 R
T 5 1 AT H T I G

-1
(¥4I1)
LERRI L.
FZIATT 2.
Eai iU

-1

@AreEl &1 Em)

c o w »
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OST R
% . 13
e them In 66. ﬁ%ﬁﬁ“mw
66. Consider the following days and arraog : Waﬁmaeﬁrﬁq: aﬂtﬁ?ﬂ?ﬂm
chronological order : 1 firrg
. World Health Day ’ e e
2. National Maritime Day 2. “‘fm“‘iﬁﬁﬂﬂ
3. World Athletics Day 3. T e fiag
4. World Red Cross Day g 4. e wmfag
Select the correct answer from the codes g1ven 3 ﬁQWfZ 3 ﬁ\q‘é’fm |
(@) 2,1,3,4 1
4,2,3,1 WO
?:)) 3,2,1,4 'ﬂF ® 4,23,
» &=y Ay ‘:‘ ’ ‘E @
@ 23,41 © 3,214 o4
s d 2,341
67. Match List-I with _‘Lgl-ll and choose the correct
answer using the codes given below the lists : 67. @-Iﬁ@-llﬂwmmw%ﬁﬁ
List-T List-I1 T 6 ST T 3 wE I :
(Award) (Recipient) Tty
A.  Aryabhatta 1. Amitabh Bachchan -1
Award, 2024 ) )
A. ITE T, 2024 . iy a=m
B. World Literary 2. Mamta G. Sagar 2 /1
Prize, 2024 B. fovs anfer qoam, 20247 2. amar st wmm
C.  LataDeenanath 3. Dr. SubbaRao C. dardqmm g 3. g‘-‘r_gmua
Ma.ngcshkar{f ) Pavuluri TR, 2024 ERIY
Award, 2024 D. TeSA aietor Tt —4, INTeiT Yl
D. Goldman ;{3 4. Alok Shukla 2024
Environmental wT
¥ .l =
Cod sPnZC, 2024 ;\J A B C D
odes :
poBoco B | ee—
B
@ 3 2 4 ; © 2 3 1 4
W 3 2z | ad 4 2 1 3
© 2 3 1 4
@ 4 2 1 3 68. -1 % Ffl-11 & gAfer Afdrg ok ghrt A R
- I 2 3T T e S :
68. Match List-I with List-Il and choose the correct o1 qi-11
/ .answer using the codes given below the lists P 3
T 1g I~ : List-II (et (0
1(;?:_ il < (;s' ) A. faafie i
itamin ~| ease )
N
A. VitaminA < 1. Beriberi B. fifim & HHTH
B. VitaminB r‘ : 2. Blindness c. R G f@E}T
C. VitaminC ' 3. Rickets D. fyrfi =t
D. VitaminD 4. Scurvy
e
Codes : -
A B C D A B _C D
@ 2 1 4 3 L2 1 4 3
® 4 3 2 1 ® 4 3 2 ;
) 1 3 2 4 @ 1 3 2 .
@ 1.2 3 4 @ 1 2 3 A
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Match List-I with List-II ang ¢,
wer using the codes given belgy,
List-I
(Canals)
Upper Bari Doab Canal 1. Sutlej
Sirhind Canal 2. Yamung

Gurgaon Canal 3. Sutlei .
]ﬂdim Gandhi Canal 4. Ravij, RﬂVl, Beas

Q0se the correct
the lists -
List-11

(Ri vers )

ans

n

(¥% )
\—nn—on—th

C
1
3
2
2

W a N AT

B

Which one  of  the following

(Crop— Peculiarity) is not correctly matched ?
(a) Bihar's contribution to 15-7%
rice production

State where rice is grown
three times in a year
Isohyets that decide
western limit of rice
production

State with largest area
under rice production

0. pairs

(b) — West Bengal

©

100 cm

(d) — Uttar Pradesh

Consider the following statements with reference to
cotton crops :

1.
2.

7.

Cotton is mostly a Kharif crop.

Cotton crop requires moderate amounts of
rainfall varying between 50 — 75 cm annually.
Which of the above statements is/are correct ?

(8) Neither Inor2 (b) Bothl and 2

() Only2 (d) Only!l

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason R).

Assertion (A) : Red soil denotes the second largest
soil group of India.

Reason (R) : Red soil surrounds the black soil in the
south, east and north directions.

Select the correct answer from the codes given below :
(8) (A)is false, but (R) is true.

() Both (A) and (R) are true and (R) is the correct
explanation of (A). E'?’;.‘ o
(A) is true, but (R) is false. ”

Both (A) and (R) are tru

.

e, but (R) is not the

-,
e WOITECL CXplanalion OL WA/ eecmemmmmeee

DST.F-1-23
69. @_]ﬁ@uﬁwwm@ﬁ%ﬁm
mf{ﬂﬂﬂﬁﬁﬁmﬁﬁq
‘{Eﬁ'l H:tﬁ-ll
FE) @feai)
A, FOh =T ST TR . wags
B. gUEE T« 2. #gm
C. 3. gy, T, =
D. 4.
k32
(a)

70.

mmﬁ%m@ﬁﬁm%f@amwﬁan
Hifg -

71.

T TEA: G HEA @ |
HATd ¥ Ieare ¥ fow A 50 § 75 St A

1.
2.

HEAY 9N & SAEYIFHal st 7 |
Iueh 3§ & B FT G R/ ?
(a)

Far 1982 ®)_ | 32 St
@ el

%ﬁwﬁﬁ@aﬁmﬁm(mw
aﬁtaﬁm(mm I

SR (A) : T T, MTE 3 L HE T TR
F NI R | o

T (R) : e T, 1 o, g 3K W
fomei dtgu Ef:\,‘?ﬁw ‘Ef

ﬁﬁﬂ’m ﬁ%a’é’rmgﬁm:
(b) (A) 3 (R) % et & 3 (R), (A) Fit "

(A)Hﬁ%

(R)TEa g |
(A) 3R (R) u'a‘l%‘ g R), (A) F w&
=TT 7ET Far §

.........................................
...............

72.
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73.

74.

75.

76.

....................................................
.........................................................
..............................

ent
. . n Developm
Which indicators are used in Hum?

Index (HDI) ?

1. Incomc level

2. Education

3. Condition of environment
4. Life expectancy

Sclect the correct answer from the
(a) Only 1and4 (b) Only 1,2 and 3
(c) Onlyland2 (d) Only I, 2and 4

codes given below :

arrange them in

. ‘ : nts and y
Consider the following eve from the earliest

correct chronological order starting
to the last activity :

1. Pradhan Mantri Gramodaya Yojana

2. Rural Employment Generation Programme
3. Prime Minister Rozgar Yojana

4. Valmiki Ambedkar Awas Yojana

Select the correct answer from the codes given
below :

(a) 4,2,1,3
(© 3,2,1,4 (d)

®) 2,3,4,1
1,2,3,4

Malthus argued that the population grows in a
progression, while agricultural production/food
supply grows in a progression.

From the following options, choose the correct
answer to fill in the blanks :

(a) Exponential, Linear

(b) Linear, Exponential

(c) Geometric, Arithmetic

(d) Arithmetic, Geometric

Match List-I with List-I1 and choose the correct
answer using the codes given below the lists :

List-1 List-II

(Yojana Name) (Date of Launch)
A. Pradhan Mantri Awas 1. May, 2016

Yojana — Gramin

B. Jal Jeevan Mission 2. October, 2014

C. Swachh Bharat 3. August, 2019
Mission — Gramin

D. Pradhan Mantri 4. November, 2016
Ujjwala Yojana

Codes :

A B C D

(a) 4 3 2 1

(b) 2 3 ] 4q

¢ 3 4 1 2

d | 2 3 4 E&%

73. WA e guws (@) § ﬁ;quST'F';Q:
. Yo (79.41.378.) -
mﬁa"mm%'; 3
l. AR -
2. Torem ‘é%%
3. yglr e fafy
4, mﬁasﬁaqmﬁzmang
(a) Fad | 34 (b) Faer 1,233
(c) Faar13i2 (d) Fael, 234
74. Fiefafen wensi w fmm Hifm @ = g
FIATRRT § Sgafiya Hife, g9 q2a 8 o ot
’Tﬁiﬁlﬁrﬂaﬁz &
1. mn:ﬁmﬁuﬂrw
2. Ty FrdFET
3. S ONEQE AT
4, IR et g AT
et few me iz 7 & et swe g
(@ 4,2,1,3 (b) 2,3,4,1
(@ 1,2,3,4
75. WU 3 d fear foh e wIfa o =t
Srarfen ¥ IeareA/@rer S BUIRERCEGI:
frefafaa fasedi & @, fs w6 off & fog s
mgﬁq:
(a) g, WErE
(b) e, T
@) x5
76. -1 % -1 & gafora Hifog i gt % 49
T % T T T FE IO :
-1 -1
(@11 7TH) (3T fafdy
A, S aaTE deET - anfler 1, #2016
B aﬁeﬁawﬁm[—rn 2. IFEEL 201
C. <3 I faws — arHi 3. TH, 2019
D. JuEHA mw:m 4. FI, 2016
He : o
A B ~ b
(b) 2 3 1 4
(c) 3 4 1 2
@ 1 2 3 4 )
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78

7.

80.

----

which of the following
Constitution of India ?

. The President shall not be g mem
the Houses of the Parliamen,

is/are Stated in  (he

ber of either of

5, The Parliament shall consist .
and both Houses. of the President

 Select the correct answer from the codes given below
W

(a) Only 2
(c) Onlyl

(®) Bothland2 Y&

(d) Neither 1 nor2 ®

Consider the following statements

An Amendment to the Constitution of [ndj

initiated by the : ndia can be
1. Lok Sabha 2.
3. State Legislatures 4.

Rajya Sabha
President of India
Which of the above statements is/are correct 2
() land2 (b) 1,2and3

© 2,3and4 (d) Only1

Which of the following are the functions of the

Election Commissioner of India ?

1. Conduct of elections for the posts of the Speaker
and the Deputy Speaker of the Lok Sabha and
Deputy Chairman of the Rajya Sabha.

2. Conduct of elections of the
Corporations and Municipalities.

Municipal

3. Deciding on all doubts and disputes arising out of
the above elections.

Select the correct answer from the codes given below

(2 land3 (b) 2and3

(¢) land2 (d) None of the above

Which one of the following is nof correctly
maiched ?

(a) Dantwala Commitiee  — Rural Credit

(b) G.V.K. Rao — Planning at the
Committee Block Level

(c) Ashok Mehta - Pancha?fati Raj
Committee Institutions

(d) Santhanam Committee — panchayati Raj

Finances

Which one of the following is not correctly
matched ?

(3) Article 154 - Executive Authority of the
Governor

Office of the Govemor

Term of the Governor

(b) Article 153 -
(c) Anicle 156 -

--------
------------------
......................

...................

DST.F-1-23
méwﬁmﬂﬁﬁn%ﬁaﬂﬁ%mmﬁa%/%?
1. Wﬁm%%&ﬂ«ﬁmmmqﬁﬁml
2. <ree gt it et & firer
1) Ry e & A SR
(a) FAS2 —

) ¥l (d) FA1FE2

ﬁmﬁmﬂﬁwm:
qmﬂﬂtiﬁﬂﬂﬁaﬁ%mﬁmaﬁwsmﬁﬁmm
TFATE :

| A aIEU 2. TG VT 510

3. Usd fauE-sEEl & 4, ¥ % T &R

Fues # A - @Wﬂ'{r%/%?
*Ei ®) 1,233

S @ ¥l g{&%

m%ﬁﬁ??@ﬁ%ﬁﬁﬁwﬁaﬁﬁﬁﬁ-ﬂm%?

| @y w3 7o M ITSAE T TS W F
qeyTafar 3 vet % fere faatem wEmT |

2.wwf%—m3ﬁsﬂtwﬁ7rﬁ%%qﬁa’ra=r
Eacicill

3. Wmﬁwwlﬁﬁaﬁtﬁaﬁm
fol 1

€ 2.3 aﬂuﬁ!

(a) 133 ff‘!f (b) 233

© 10 O R
™~

freferfaa & @ F-a1 o ol gafaa 7@ 8 2

(a) earen afafa —  oyHior ST

(b) ShAF maaffs - veswwFEsE
(c) IOFdearaffa - d=md US HRATd

L

P
B fFrafafea § & #)7-w o e gt 7et 2

(a) 313?&21%! — TSI T HEFHR TR
(b) :ﬂﬂﬁalS}! — SO 19

N
(c) IRTI56 - Usyarel i weafy @)
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& 2. G- wrEa T gft

_ o e the correct |82 -0 Fifm ¥

82, rl:tch L]-St'lmmmdl'lsl-'genagedk’?%): lists : T T o e N g

wer usin es gi
Listr o CeS B e " -1 w11
A. Human L. 1{‘,}‘“2?;,';’, Pund A FRfaEm il 1 smde ey
Development Report on : B. fagafls : -
B. World Economic 2. Umt.ed Nath:nS & Qi\EEﬁIUI 2 HQEWWHMW
Outlook Environmen C. mafwfad 3 e Ty, T v
Programme D. ST armfde 4. =maw s R wy
C. World Investment 3. United Natlot e 3
Report Developmen T
ngl'ﬂn&mtc g o i
D. Emissions Ga 4. Unitéd Natio B C D
Report e Confference on Trade (@ 3 4 1 2
andQevelopment
Codes : o © 2
3 4 1 i@
A B C D T orio
@ 1 2 3 4 é‘gti
@ 3 4 1 2 k&
® 3 1 4 2 « o | ﬂ%émﬁqwiﬁqﬁﬂ@ﬁm(ma
€ 2 3 4 1 égﬁi T H FT (R) Fal maT R |
@ 1 2 3 4 i AT (A) - T e £ arom B e

83.  Given below are two statements, one is labelled as 210 AR FT T |
Assertion (A) and the other as Reason (R). . ;
Assertion (A) The concept of Sustainable T (R) : 5iTets fai i “fermprg it damad ¥ =y
Development was popularised by the Brundtland IS 2 )

Report. ¢ T
Reason (R) : The Brundtland Report is also known ﬁﬁmgﬁﬁww S TN
as * The Limits to Growth”. . (@) (A)Te R, i (R) W R
Select the correct answer from the codes given below : (b) (A) T (R) T | % ﬁ’rﬂ' R), (A) A1 ®
(@) (A) is false, but (R) is true. (4 ' e e )
(b) Both (A) and (R) are truepbut (R) is mot the
correct explanation of (A). <
(c) (A) is true, but (R) is false. d aoT il g A) T
(d) Both (A) and (R) are true and'(R) is the correct ) QT)@TE{%TR)%i e ® (R). (&)
explanation of (A). . . .

84. The following lists I and II show the names of [84. F=icifad wfem 1 3k 11 snfwficesi & T @
Economists/Authors and their books respectively. STl (R 1 S QA € | gl g
Match List-I with List-Il and choose the correct gﬁf\aﬁﬁﬁm ﬁ(qﬁq}%ﬁﬁqm@mma
answer using the codes given below the lists : o I afiu: =
List-I List-IT 2 a1l
(Economist/Author) (Book) Fﬁ-l &

A. Myrdal 1. Economic Theory and (e EE) (T
Under-developed Regions = = 3 ;

B. Hirschman 2. The Strategy of Economic A firee N sﬁﬂf\qaifﬁrﬁ @,mﬁa—
Development B. f&itm 2. TR ITE FHATHS STAHE ‘

C. Kaldor 3. Strategic Factors in C. Tt 3. B $aed 9 s i Saaw
Economi¢ Development fow 4. 2oy 3w Yy

D. Adam Smith 4. The Wealth'of Nations = TR e

Codes : &

A B C D g A B C D

(@) 2 3 1 4 < a 1 4

© 2 1 3 & O o

@ 3 2 1 4 @ 3 2 1 4 ‘

85.  Write in descending order the following States on the |85, 2011 & STTUMT & SR ST ST & AW

basis of their population as per Census, 20] 1 - frafafaa st =t aﬁﬁmft%ﬁm{:

1. BiharP - i {’Lvndhra Pradesh 1. fEr 2. AR

3. Uttar Pradesh . est Bengal Tt
Choose the correct answer with the help of the 3. A T i;‘ afim .
following codes : ﬁqﬁﬁgﬁaﬁgrﬁm mgﬁmaﬁq\’ :
(a) 113) 2$4 (b) 3'41 112 (a) I 3 2 4 (b) 3’ 4' 1‘2

(c) 3,1,4,2 (d) 1,3,4,2 (d 1,3,4,2
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87

88.

89,

According to the Economic Survey

fiscal policy response did the G 2022 — 23, what

- undertake in response to the aggr Overnment of India

disruptions ? avated global supply
1. Decreasing food and fertiliser subsidj
2. Increas_sing taxes on fuel and importe ées
3. Reducing taxes on fuel angd cﬁmproﬁucts

products In imported
Select the correct answer from the codes
(s) Only2 (b) Ounly3
(c) Onlyl (d) None of the abo
Match List-1 with List-Il and choog v
answer using the codes given below thee[islge, correct
List-I s List-I1 :
Social Securi
progranme) Benefciay’s
Pradhan Mantri Shram 1. Beneficjary®
Yogi Maan-Dhan Yojana choice lary’s
Pradhan Mantri Jeevan .
Jyoti Bima Yojana % :Srsr;l-oift?o
Pl:adhan Mantri Suraksha 3. %436 pe
Bima Yojana DET year
D. Atal Pension Yojana 4,
Codes :

A B

(a 2 4
® 2 3
) 3 2
@ 1 2 4
Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).
Assertion (A) : Development is being defined as
improving living standards and welfare.
Reason (R) : Growth in per capita income is not a
sufficient measure of development.
Select the correct answer from the codes given
below :
(a) (A)is false, but (R) is true.
() Both (A) and (R) are true and (R) is the correct
explanation of (A).
(A) is true, but (R) is false.
Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

Arrange the following schemes launched by the
Government of India in chronological order and
choose the correct answer from the codes given
below :

1. Integrated Rural Development Programme

2. Swamjayanti Gram Swarozgar Yojana

3.  National Rural Employment Guarantee Act

4, Pradhan Mantri Jan-Dhan Yojana

Codes :

@ 3,4,1,2

given below -

o w ¥

T 20 per year

D
3 0]
1 O}
4

u.—-.h..—-n

(c)
(d)

86.

87.

88.

89.

DST.F-1-23

2022 — 23 ¥ JEN, Fga Afas
£y wfafrar 219918 7

| e aiv 3E wfeRE I F

2. guqaﬂtaqwrﬁamﬁwaﬂm

3 gmaﬂtgﬁnmﬁamﬁmaﬂmm

3 oo g H @ W ST
(a) FAA2 a
_1 = H=-11
ﬁfg%r;gﬂaﬂaﬁmgﬁm
gft-1 -1
(anqﬂ?mgrmmw) gﬂ&wﬁfmmﬂm
n )
A. quih s AT T 1. R emied
LIS Lined®
B, wurA shad sAfa sfimr 2. €55 -3200
AT sfd =E
C. wurHEt geer s 3. razeufaad
LISEll
D. e v AT 4. r20vfaad
T c D
. B
(a) tg‘ 1 3
gy 2 14 90
Eg)) i 2 3 4 lﬁgﬁi
3 3 e R e E, Rt & o S AR (A)
gﬁaﬁmm)mw%l
SRR (A) : Fprd i Sfiee & AR Fea § gfg
¥ &g i ufonfa R ImaT R |

HROT (R) : T = g § I fwrw i @iw
T2

= Ry e g2 7 @ e I
(@) (A)TerE, Fg (R) TR
© (AT FgERTEae]

(d) (A) T (R) FHT wE F, B (R), (A) it W
|

ST 7T HT &
NI BN g e o Fefafaa dsere S
TR i saftud g st = Ry g 4 9w
W .

EELE
1.  wufaa awdfor fama sdwa

2. vl S I SO T

3. U= arftor Qe it arfatrm
4, TUEHH TH-89 FisHT

e

@ 3,41, ® 1234
(c) 4,3,1,2 d 2,3,4,1

-
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90.

91.

92.

93.

94.

What does the term “Cereal Yield” refer 07 it area
1. The amount of cereal crops pr oduced per U1
of harvested land . :

2. The total production of cereal crops 1 2 given
country .
Select the correct answer from the codes gIVen
(a) Neitherlnor2 (b) Bothland2

(c) Only2 (&) Only]™

Which of the following statements isitruc regarding
the trend of unemployment rate ir;::Indm betv:r’een
July-September, 2019 and July~S€Pt?f2?er’ 20227

1. Itremained the same. I~

2. Itdeclined. o

Select the correct answer from the codes given below :
(a) Both 1 and 2 are false.

(b) 2istrue and | is false.

(c) Both 1 and 2 are true.

(d) 1istrue and 2 is false.

Who prepares/publishes the Global Multidimensional

below :

Poverty Index (MPI) report ? 92.

1. World Bank and International Monetary Fund
(IMF) L

2. Oxford Poverty and World Hea]{ljf Organisation
(WHO) 3,

3. Oxford Poverty and Human. Development
Initiative (OPHI) -~

4. United Nations Development-! Programme
(UNDP)

Select the correct answer from the codes given
below :
Bi@
(b) 2and4 E'g{j
(d) land4

(a) Only4

(c) 3and4

Arrange the following schemes launched by the
Government of India in chronological order and
choose the correct answer from the codes given
below : I

1. Swachh Bharat Mission b,

2. Pradhan Mantri Kaushal Vikas Ybjana
3. Pradhan Mantri Garib Kalyan Yojina
4.  Pradhan Mantri Mahila Shakti I‘(e'[}d_m Scheme
Codes : i

(a 4,2,1,3 (b) 2,1,4,3

(© 3,1,2,4 d) 1,2,3,4

What does the Intergovernmental Pane] on Climate
Change (IPCC) emphasize regarding reductions in
greenhouse gas (GHG) emission ?

1. Gradual and limited reductions are enough,

2. Deep, rapid and sustained reductions are essential,
Select the correct answer from the codes given below :
(a) Neither I nor2 (b) Bothland?2

(c) Only2 (d) Only 1

90.

91.

93.

94,

DST.Fq

“HAT 39T Yo T ATqd TR ?
Lo = mw oft & it s & F sanfy

FHET AT
2. %Fﬁﬁqnq%wﬁmmm@mm
ﬁﬁ'{mﬁﬁﬁmmgﬁq:
(@ Far13d2 (b) 13 23Ht
(© @2 (d) FEAIL
F-fa, 2019 it md-fr, 2022
MR & SRS o Y wafy % way F Pt
T FUT TR L 2
1. wferd
2. W
ﬁﬁqﬂq@ﬁﬁmmgﬁq: {

() 2ufrgM1TEa)
() 13m23-iade e
d) r1e@tgsi2meme fg'gvi
i agmandt T g (e ok
TSI T £ 2

1. fag & oft srriedia ggr iy (o wi.ww)

2. RIS il 3 form waree e (seeg ua.
3. HTFIRIS Tl 3 AHe forahre geer (it u.an
4. 97 g, forevr srdoem (g e <)

A few e 2 @ wdt swr i

(a) FawT4 () 234

() 334 d) 134

WA &R g0 90 Y 18 affag deanei
FreTgERH § SHafterd Hfg 3 A Romo gz § 3
mgﬁq:

1. =3 Yrd iy
WA Rt faema e

T e T G
wuTwEAT wfger it 2 Qe

92]:‘“!-".“

) 4,2,1,3
() 3,1,2,4
Hiaeew 4 (Shtuasft) s & wdt ¥ ey
Serary TR T AT et (s o i wdt)
WS AT ?

1. i e s vyt 8

2. el ot 3R Pt et sawas ¥

= few e e & & wE s g
(@) TA1TA2 (b) 13R23E

(b) 2,1,4,3
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96.

97.

98.

"""""

........

which of the following is the correct

phases of Biotic succession ? Sequence of

@ Ecesis — Migration — Stabilisalion - Reagyj

o) Ece sis — Migration — Reactioy — Smbilisal;on
(¢) Migration— Ecesis — Reactiopn — Stabilisatiz:
@ Migration — Reaction — Stabilisation — Ecesis

Given below are two statements, ope j
L] ]s
Assertion (A) and the other as Reason (R) labelled as

Assertion (A) : Relative humidity ditmnms ‘
increasing air temperature. es with

Reason (R) : Absolute humidity increases ith
increasing evaporation. wi

Select the correct answer from the codes given below :
(@ (A)is false, but (R) is true.

() Both (A) and (R) are true, but (R) is nor the
correct explanation of (A).

(A) is true, but (R) is false.

Both (A) and (R) are true and (R) is the correct
explanation of (A).

(©
(@

Which one of the following is correctly matched ?

(a) Pycnocline — Sea water density

(b) Ecocline — Biodiversity

(¢) Halocline — Sea water temperature
(d) Thermocline — Air temperature

Match List- with List-Il and choose the correct
answer using the codes given below the lists :

List-I List-II

A.  Planting Hearth 1. Hungary
B.” Cryophyte Steppe 2. Adolf Engler
C. World Floral Regions 3. C.O. Sauer
D. Puszta Grassland 4. Arctic Tundra
Codes :

A B C D

3 4 2 |
®) 4 3 2 1
© 1 2 3 4 g%%
d 3 4 | 9 ®

mmmm——
C P - P
rrrsssmsmama -

95.

96.

97.

98.

L DST.F-1-23

Wﬁﬁ%éﬁﬁmﬁmm
TR w7 o

(a) e — Sty — ferfieo — wfafr

(by e — st — ffran — feafE

(c) AT — SATeT — ST — et

4y 3 o R e &, Foml & o o afira (A) O

{H‘(aﬁm(R)WTMT%I

W(A):qﬁmmwﬁmﬁqﬁ%
b

3 Ry i @ B swcaf

@) (A)TEEE, g (R)FAE
(®) (A) 3 (R) 3w E, B (R), (A) B FE
=T TE T e |

(©) (A) TR, g (R) T 1

£
[

Freffaa 3 & FHE TR gAfaa 8 2
(a) qﬁa:ﬁ?am[;-, arTir STt e

(cj ERIESIES ::—i T S ATIHH

(d) wileegT - aTg T aEE
rﬁﬁ-lﬂtﬁﬁ-uﬁqﬁﬁrﬂﬁﬁqaﬂm@ﬁ%zﬁ%ﬁq
T e T TA R FE I G

Tl HA-11
A. drERIqor I 1. &l
B. R A 2. TEIEE WER
C. fama & qedia & 3. 3
D. eI ¥ ASH 4. e I
wE :

(b) 4 3 2 1
(c) 1 2 3 4
d 3 4 1 2

I L T
e cmsamsmsssssssns
U essssssssassasssrsame



Highlight

Highlight

Highlight

Highlight

Highlight

Highlight


o4

99.

100.

101.

102.

103. Which one of the following groups have only input £
devices ?
(a) Mouse, Keyboard, Projector
(b) Mouse, Keyboard, Printer
(c) Mouse, Keyboard, Scanner mym
(d)_ Mouse, Keyboard, Monitor o
TETTEIEL g e Y26

hich is
The content of computery memory W :
non-volatile, even when thd power goes off is :

() ROM (b REM
(c) RAM (dy! None of the above
<

N st
Which of the following is a corre;:t relationship
between Fahrenheit (°F) and Celsius (°C) degrees ?

9
(@) °C=°F-273-15 () °C=3°F+32

() °F=°C-27315 (d) °F=2°C+32

Which of the following statements is not

true ? L)

(@) Nucleus of a cell does,gn];)t play a role in cellular
reproduction. ﬁd

(b) Chromosomes are cq%&poscd of DNA and
Protein. !

(c) Functional segment of DNA is called genes,

(d) Chromosomes
inheritance,

contain  information for

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).

Assertion (A) : COz, SO2 and NO2 gases get
dissolved in rain water and produce acid rain.

Reason (R) : Atmospheric '{f is polluted due to high
concentration of gases like:earbon dioxide, sulphur
dioxide and oxides of nitrogen

Select the correct answer fro§15hc codes given below :
(@) (A)is false, but (R) is true.

(b) Both (A) and (R) are true and (R) is the correct

explanation of (A),
(c) (A)is true, but (R) is false.

il

(d) Both (A) and (R) are true, but (R) is mot the

correct explanation of (A),

99.

100.

101.

102.

DST.FJL.

Wﬁn‘lﬂmnaﬂ:—ﬁﬂﬂ%@ﬁ?mm
TR T oft sfEdaefier war R 2

(b) REM
(©) RAM (d) ST AR g

Frefaftaa # & S ez (OF) T ey o
faft F g o dew emtar & 2

(@) °C=°F-27315 () °C=2°F+n

() °F=°C-273-15 *

Feffer d @ S T

w

(b) FHEHREL T AR AL

(©) AWT N s TR T FaE

() SR HafE 3 o geed dim @ )
e < e fow e, Rl & w9 atfiem (A) 7

FHUH F (R) T 4T3 |

S (A) : CO,, SO, 3 NO, ¥ awi s iy
STt € 3R 3 anf s et 8

I (R) : FTH STEIHIES, HeHt TRITH0ES o

TS & iaTge It A6 3e7 wimar ¥ w1

TS g e Bt 2

ﬁﬁqmﬁzﬁﬂaﬁrmgﬁq:

@ (AT, g R) TR

(b) (A)aﬂt(R)a"lﬁa#T%aﬂt(R),(A)ﬁn
AT HETR |

© (AT, fFgR) e

Frefafed wigh & ¥ fFed Faw s v (@
feagm & 2

(@) ¥, A, e

(b) =, Frar, fie =yE
© T, A o

........................................
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nﬂ ider the followi
10 eca(.:"ll:l:‘:;c :e orowing statements with reference to
- :nhcfizen?r Ifld?:erences of numerous river-ports in
ot
is/are correct ?
(a) Neither 1 nor2 () Both | and 2
(c) Only2 (d) Only1
105. Arrang-e the fo!.low-ing Sen rulers of Bengal in
ascending chronological order :
1. Ballal Sen
2. Lakshman Sen By@
3. Hemant Sen m
4. Vijaya Sen
Select the correct answer from the codes given below :
(a) 2,1,4,3 (b) 4,3,2,1
(€ 3,4.1,2 d 1,2,3,4
106. Consider the following statements with reference to
Bairam Khan :
1. Akbar gave the titlle of Khan-i-Khana to Bairam
Khan.
2. This title was not given at the time of
appointment of Bairam Khan as Vazir of
Empire.
Which of the above statements is/are correct ?
(a) Neither 1 nor 2 (b) Both1 and2
(c) Only2 (d) Onlyl
107. Consider the following Peshwas and arrange them in
ascending chronological order :
I. Raghunath Rao (Raghoba)
2. Balaji Baji Rao
3. Narayan Rao
4. Balaji Vishwanath
Select the correct answer from the codes given
below :
@ 3,4,1,2 ® 4231
e (9)1,3,2,4 () L2348

DST.F-1-23
104. mmﬁ%w&ﬁnﬁﬁaﬁmuﬁmﬁan
Hife :

| e v g @ A-a=e  wed frer € |

o el wmT ST AT & &S R |
e i & - F g AR 7
@ AdiAA2 G )
© FE2 (@) ¥
I

105, sret & P 3 AR F S FDHHIR
aftud HIfT :
| weadd
2. wEEOTET ol
3. WA é%q
4. femEm
ﬂ%ﬁqmiaﬁﬁn‘aﬁaii}gﬁq:-
(a) 2,1,4,3 Me) 4.3,2,1
O 1,234

<
—J
106, At ¥ vt § Pt st ¢ fem Hift
1. awﬂém@?aﬁgm-q-@mﬁwﬁﬁl
9. g IO HERT ¥ IS & ®9 § wW @ H
e Fwma i |
I 3 F FH-AA FAT WE /R ?
(@) TA1TE2 (b) 1302 AT

(c) Fa2 L) FEEl
o
Frefafian Jramell @ fem Aifvg o ¥ ot
L AN TE @
2. STATS =S O
3. A U
4,

Sretrsit fagamy

13 Ry g B & v s
(a) 3,4,1,2

107.
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DST.F-1-23
o it he g &
L =
108. Motch Listl with Lisill and choose the comeclop,  wfi-1 1 gefi-1l aﬁawﬁ"' _ ™
answer using the codes given below the lists - fow e 5z A i T HE N i
List-1 List-11 -l gt-11
(Essayist) (Tr catist) (FETFR) (ﬁﬂg)
A. Devana Bhatla 1. DanSogar A& LI
B. Hemadri 2. parashar Madhav A. U .
C. Madhvacharya 3, Chalurvargd B. eIz 2. GUEICHTE
Chintamant feqmafr
1 i C. amvETETd 3. =g
D. Ballal Sen . 4. Smriti Chon agfer oz
ooy D. Feod 8 4. -
Codes : £l
™y *e
A B C "D b ¢ D
™y A B
(a) 1 4 2 13 o)
b 1 [é%‘ﬂ (a) | 2 3
2 4 1
(b) (b) 2 4 1 3
@ ¢ 3 2 1 Otz
109. giveﬁ.be]o:' an:i ttrlfo sl:]ater;lse;tes;szl:]eag labelled as 109, 3 & T Rome E, it & e T AR (A) T
ssertion (A) an c;a‘ :cr : ‘ . a@taﬁmm)mﬂm?-l
Asscrtion (A) : Tuirlush invasion on India was EN
successful. =y SATRIHET (A) ¢ I TR SR THA G |
Reason (R) : There \fv:{lé no political unity in North HTOT (R) + I MG 3 Tt e el o | g]ﬂg
India. =
i ol A3 R e e f & wér IR ©
Select the correct answer from the codes given below : @ (A) e R, ﬁf’ﬁ ®) T2
(a) (A)is false, but (R) is true.
(b) Both (A) and (R) are true and (R) is the correct
explanation of (A).
(c) (A)is true, but (R) is false.
(d) Both (A) and (R) are true, but (R) is not the d) Ay (R ?.;\Tﬂ g q R). (&) @ w@
correct explanation of (A). STEAT 7ET HAT 8 |
- N ': | . .
110. Consider the folluw;_ng .stalcment.s regarding Voice of 110, Sfed 31T eae ey ahe (ﬂ’f.ﬁﬁﬁ.@.t{&.) ]
Global South Summit (YOGSS) : # PR R
1. India recently concluded its 2" Voice of R ’ ’
Global South Summit. l. WA 3 T € H S gE e IfE e
2. The term Global South is related to developed TSy afte T e
. l““f";”‘:s'b . . 2. Tege wSY Y Tt du | wefta R
ich of the above statements 1s/are correct ?
ST A FH-1/E o 28
(a) Neither | nor2 N
w Gnly2 (a) Adr1Td2
; nly
(b) a2
(c) Bothland2
(c) 13Mm2em

(d) Onlyl
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111.

112.

113.

114.

Which one of the following pairs (At
Plant — Statc) is nor correctly matched 9 minium

(a) Belagavi

—  Kamataka
(b) Alupuram (Alwaye) - Kerala
(c¢) Hirakud - Odisha
(d) Mur - Chhauisgarh

Which of the following pairs (National Ppark
State/Union Territory) is nor carrectly matched ?

(a) PinValley -  Jammu and Kashmir

(b) Rajaji - Uttarokband
(c) Simlipal — Odisha
(d) Bandipur — Kamataka

Given below are two siatements, one is labelled as

Assertion (A) and the other as Reason (R).

Assertion (A) : The Himalayas are still rising,

Reason (R) : The Indian tectonic plate is colliding

with the Eurasian plate.

Sclect the correct answer from the codes given below :

(a) (A)is false, but (R) is true.

(b) Both (A) and (R) are true, but (R) is nor the
correct explanation of (A).

(¢) (A)is true, but (R) is false.

(d) Both (A) and (R) are true and (R) is the correct
explanation of (A).

Match List-I with List-Il and choose the correct
answer using the codes given below the lists :

List-1 List-IT EE

(Coal Resouirces) (States) EI%“
A. Hutar 1. Madhya Pradesh
B. Ib River 2. Chhattisgarh
C. Tatapani — Ramkola 3. Odisha
D. Umaria 4. Jharkhand
Codes :

A B C D

(a 2 | 3 4
(b) 3 2 4 1
c) 4 2 3 1
@ 4 3 2 1

................

DST.F-1-23

et g QiR ##
B kLA

(a) el - S

b) e -

(c) Hgs L
freaferfiaa gmi _ AT &) H
F-ar wd gaka TER ?

(b) T aaamag

© fomefme - it

(d) FE ~ FAICH

3 2w e &, i & o @ ARG (A) aA
ZE I T (R) TS |

arfereera (A) : e snft st S ET TR

HTOT (R) : M ¥ wie U @i 8 260 Wt

21 LM

ﬂ%ﬁqm@ﬁﬂn@pﬂtgﬁq:

() (A)TEE s, R EE R

) (A) 3 R) g 7 3, Bg R), (A) R w_
ST 7E FATE | -

© AFRRFFgER) AR m"gﬁ

F

. -1 30 g1 | gefera AR ot i & e g

T T T WA TS IA G

Leis -1

(@FIgen dsr) L0 =)
A. T ;‘: I "W
B. @I N 2. odwTg
C. W—Uﬂﬁf’é% 3. ifsm
D. sWfan Ny o
e

(a) 2 3 4
(®) 3 4 1
© 4 2 3 4

.................
....................

..............................
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115,

116.

117.

l]8a

e e L TS I ey e

T

DST.F-1.23
correct | 115, -1 = F-11 & Fifew A S %%F‘Q
Match List-I with List-Il and clmusc' the FT UG TG I .
answer using the codes given below the lists : TR T=h
List-1 Listl S et o e
i 2 .
A. Cooperative Federalism 1. K.C Wh‘fm = A. .: ATz S
B. Bargaining Federalism 2. [IvorJennings B. e 5 qifE-S
C. Quasi Federalism 3. Moris-Jones C. i HTaT 3 A i iR
D. Federalism with 4. Granville Austin D. &= H ygf 4
Centralising Tendency EISIKEEE
Codes : -~ '
@ 2 1 4 3 @ 2 1 4 3
(b)y 2 4 3 I
) 2 4 3 1
(c) 3 2 4 1 () 3 2 4 1
@ 4 3 <

three-tier Panchayati Raj

réj:ummended by Balwant
Rai Mehta Commitiee ?

="
(a) Gram Panchayat 'il
(b) Panchayat Samiti e
(¢} NyayaPanchayat
(d) Zilla Panchayat

According to the Lokpal and Lokayuktas Act, 2013

the Lokpal would be appointed by the President after

obtaining the recommendations of a Sclection

Committee, with the Pnme Minister as chairperson

and consisting, among others, of the following :

1. Chief Justice of India'or'a Supreme Court Judge
nominated by him |

2. Chairman of the Rajyp Sabha

3. Speaker of the Lok Sabha

4.  Leader of Opposition in the Lok Sabha

Select the correct answer l'ro'r'ﬁ"{hc codes given below :

(a) 2.3and4 (b) 1,2and3

(c) 1,3and4 (d) 1,2,3and4

Match the Amendments with their year of
implementation ;

A. 42" Amendment l. 1985

B. 52" Amendment 2. 201]

C. 86" Amendment L3 1976

D. 96" Amendment 4. 2002

Select the correct answer frdn) the codes given below :
A B C D

(a) 4 3 2y
(b) 2 1 3 4
© 3 1 4 2
(d) 1 2 3 4

2
L W
Which one of the following is mor a level in the 116, F==ET T m%ﬁﬂﬁ-ﬁﬁﬂmm

117.

118, mﬂwﬁm%a&ﬂmaﬁm:

i feffar fa s-ar s =R TE 2 ?
(a) AT T=EEA

(b) d=mad e

(d) T dem

e Wt Sy sfafEm, 2013 F SEER,
e A e wefa g o wgm gifa $i
fawiet wiw w3 F = & srefl, e 3oy yam
o g wen fed o @t % orwmEn, Frefafaw
TS B

1. WG ¥ [T SR @ 399 g AWk

ITHaH AT 1 1S =g
2. UST OV wvmie
3. S ET 3TegR E%%
4. T ey & e =
A2 fo e 2 7 & et Iw g
(@) 2,334 () 1,233

() 1,334 1,2,33f4

(d)

A. 1985
B. 2011
C. 1976
D. 2002
ﬁﬁQW%ﬁﬁuﬁmgﬁq

A B C D
(a) 4 3 2 1
2

............................................
......................
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g4 DST.F-1-23
119. With reference to ““Nepal-India International 119, ‘ST —WRA AU WA @Ee - 2024” ¥

120.

121.

122,

Sanskrit Conclave —2024**, which of the following
statements is/are correct ?

1. It was held at New Delhj.

2.  This three-day conclave was organised by the

Niti Anusandhan Pratisthan.
Select the correct answer from the codes given below :
(a) Neither 1 nor 2 (b) Only2
() Both1and?2 (d) Only1
With
Mission”’

reference to ‘‘Lunar Polar

(LUPEX), which of the
statements is/are correct ?

Exploration
following

1.  This is an India-Japan partnership for their
joint moon mission which shall be launched in
the future.

2. JAXA is responsible for developing the lander
for the mission, while ISRO is handlin:g the
rover and launch vehicle.

Select the correct answer from the codes given below :
(a) Neither 1 nor2 (b) Only2
(c) Bothland2 (d) Only 1

With reference to ‘‘Guidelines for Elimination of
Corporal Punishment”* (GECP), which of the
following statements is/are correct ? '

1. The Tamil Nadu School Education Department
issued these guidelines on 26h April, 2024.

2. These guidelines are focussed on safeguarding
the physical and mental well-being of students.

Select the correct answer from the codes given below :
(a) Neither 1 nor 2 (b) Only2

%
(c) Both1and2 (d) Onlyl =%

With reference to <‘FLY91"’ which of the following
statements is/are correct ?

I. Itis a newly launched airline in India.

2. Its inaugural flight took off from Manohar
International Airport on 18" March, 2024.

Select the correct answer from the codes given below
(a) Neither 1 nor 2 (b) Only2
(c) Both1and2 (d) Only!l

Tt i P i & SR T e

1. ged faeeh & sl fmam mar ar |

5 g d-Rady aen Hifa srEuE wiaer 31T
SRIECACRIRCIRI

e Pr e o 8w ST o

() aaﬁlwﬁ?&f (b)) FEE2

© 1stedEd @ ¥

120. [@Wgﬁmm@m*w‘iﬁ

ot & & FAbTA wv w2 2
1. ﬁm_mﬂ%mﬁgﬁwﬁm%%ﬂ
arSrert &, < wfersy & wifer foa s |

2 IAXA fum ¥ fo St e =@ & fog
frier 2, sTafh ISRO =T 3t T e
A @S | '

A Ry e § & wd sw g

(a) ?ﬁl?ﬁ!?{z (b) HaA2

913&2&5 (d) Fael

oy €8 aw%; foru Rsn-fder (GECP) & &=

i rrferfige o @ Br-aVA TR A 3R 2

1. 2631, 2024 F Al e fren w3 A
feram-fdar <t fem

2. ¥ fem-fy ol & wrifes o weites @
Hr TR HET |

ﬁﬁqﬂ!%ﬁﬁﬂﬁmﬁﬁﬁ:
(@ Fd1TE2_ (b) Fa=A2
(d) Fad 1

Lroe

2. Tomemrion) Filvon) & wani # frerfrfiae & &

-/ o TR ?

L. azmﬁa‘f%‘@né#ﬁwwh
2. 3EH Ugell ISH I8 WM, 2024 W TEIEC

A —
#fie fRe e oz & & Wl See g
(@ TAAM1TH2 b) FaE2

SRRy o Y
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124,

125.

126.

127.

128.

129.

130.

131.

132.

The only vein that carries oxygenated blood is :
(a) Cystic vein (b) Pulmonary vein
(¢)  Hepatic Portal vein (d) Cardiac vein

Diabetes is the most common disorder associated
with ;

(@) Gallbladder LM (b) Kidney

(c) Pancreas l::;:(d) Liver

The recent global paufe buring COVID-19 pandemic
was caused due to :

(@) H5NI (\(b) SARS-CoV-1

(c) MERS-CoV-2 (d) SARS-CoV-2|

Milk is an example of :

(@) - Sol (b) Foam
(c) Emulsion (d) Aerosol
The formula of baking soda is :

(@) NayCO, (b) KHCO;
() NaHCO, IL_Q(d) K,CO;

CPR stands for : T
(a) Cardiac Pulsatil%!:vision
(b) Cardio Programme[Rescue
(c) Cardiopulrnonarﬂevision 4@
(d) Cardiopulmonary Resuscitation E’!‘%“i
A bus covers the first half of a certain distance with
speed v, and the second half with a speed v,. The
average speed during the whole journey is :

2vyvy

(@ —— (b)

V1+V2 V1+V2

v+ v
(©) -\,Vl"z I-.LQ(d) %

Plants and animals thaf'ljve on land are called :
(a) Agquatic habi Lant?'i{';

(b) Abiotic ™

(c¢) Biotic

(d) Terrestrial habitants

Viva

The joint where the neck joins the head is :
(a) Saddle joint (b) Pivotal joint
(c) Ball and socketjoint (d) Hinge joint

The disease-causing microorganism among these is :
(a) Pathogens (b) Archaea
(c) Protozoa (d) Bacteria

DST.F. 1.23

123. @€ CEA P S offeE IH WO T wdry
FEATT & :
(@) fiftes fim (b) weE fmr
© RIfwwaim @ Fiéas o i
124. e S P o wga & wmr e R, wefia g
(a) frmmaa @)y FTFHY 1
_ke) ITEE (d) aFa | |
125. e @ & Fifie-19 memrt F Fnor AfEE faog 5 .

FAUE:
(a) HS5NI (b) SARS-CoV-I

() MERS-Cov-2 [SHRSECEVE
126. 3T & foraarr SeETT 2 7

(a) e ®) wH By

(©) @ e o

127. TR IGIR:

(a) Na,CO, (b) KHCO,
Ay NaHCO; (d) K;CO;3
128. [Emm.rﬁ.m.)ﬁm&% :

(@) FIETH YoheTger GOEA
(b) wfEEr S ="
(c) FIfEAgen={ @y

129. & 7w O fafiwa gt <t weelt amdt gt v nfa & @
m%mmaﬂtﬁaﬁv,wﬁ%wm%mﬁm

o =g Y sivga nfe w= Bt 2
@ 2vv, ®) Vi V)
vy + Vi vi + &

130, ffr & are e 3R ST R FEer € 0
(a) Tefg Far
(b) oAfa=w
(c) fa=w

(@), aesirg sret o d rerer 2
(a) WA
(c) dATEHEFRS (d) fEwrsieg
132, 5 @ Qo e A AT qEuha B
(b) fd

................................................................................................................................................
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™ i the Un gct::t;'c:k::l;i: 21"" best actress award | 133, Frfirfad # & fFeR 7024
Film Festival, 2024 7 RE0ry. oF the: Gannes a5 P ant 3 wrebares SRt T qreRR Sfiar 7
(@) Anasuya Sengupta ﬂ
(b) Kiara Advani (b)  Forrar == -
(c) Sobhita Dhulipala (c) S W. £ ‘ﬁl&i
(d) Urvashi Rautela @ Rl G ‘ :1|
134. W&H’ﬁ‘ﬁﬁﬁﬂ%ﬁﬂﬁﬁﬁm-m/ﬁ
134. With reference to RudraM-II Missile, which of the ”W'Hﬁ%/%'? ’7.!
following statements is/are correct 7 T gar-d-gar # A FO reh freEa R
1. Itis an air-to-air missile. 2. mqﬁmqé 2024 T TrereaT # frar AT AT |
2. It was tested in Rajasthan in May 2024, f= ﬁtﬂ?ﬁﬁ“ﬁmﬁm :
Select the correct answer using the codes given below : — . (b) FaA2
(a) Neitherlnor2 (b) Only2 © 1 aitc 2 ST d) Fae |
(c) Bothland2 (d) Only !
35, M . L : 135. @-lﬁ@-ﬂﬁmmwﬂﬁﬁ*ﬁﬁq
. atch List-I with LlSt-.ﬂ and choose the correct m@ﬁmmﬁﬁmﬂﬁqi
answer using the codes given below the lists : a1 i a=h-1
List—ll . List-TI (;raﬁwff%mm;g%) A
v S
e tam (Coun) A A ] L TR
A. Gitanas Nauseda 1. Iceland B. WW 2. fomam
B. Luong Cuong 2. Vietnam C. oot HTEIRT 3. f%{g:mﬁm
C. Halla Tomasdottir 3. Lithuania
D. Jose Raul Mulino 4. Panama b WWW 4. T
Codes : ®He
A B C D A B C D
(@ 3 1 2 4 (@ 3 1 200 4
® 4 1 2 3 ® 4 1 2‘& 3
© 2 1 3 4 5%% © 2 1 3714
@ 3 2 1 4 e
(el
136. What is R21/Matrix-M™ ? G ravAREEM™ T
(a) Vaccine against Malaria developed by Bharat (a) wrd arRE TevEa g0 e wetar 5
Biotech International faes i _
(b) Vaccine against Malaria developed by Serum ﬂ
Institute of India -
(c) Vaccine against AIDS developed by Bharat (c) ¥Rd "ER® TEIHEE FU el www &
Biotech International faars &t
(d) Vaccine against AIDS developed by Serum @ e e o e T et ww
Institute of India flaars d A
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o4 - them in|137. PrefifEs weml w Rem #if dw g
137.  Consider the following events and arrange mmﬁﬂﬂm
chronological order :
‘ E4E 1. T fauoe Raw
1. World Heritage Day - "ggﬂ .
L 2. fagurizesfeaw -
2. World Thyroid Day S S
3. World No Tobacco Day 3 o 3 2
4.  International Day of Light 4. I g
Select the correct apswer from the codes given below : A1 R e e 1 & et s g
(@ 1,423 ™ @® 3,1,24 @ 1,423 (b) 3,1,2,4
() 4,2,3,1 ‘5" (d 2,3, 1,4 () 4,2,3,1 (d 2,314
(-J'
138. Match List-] withList-Il and choose. thc_ correct| 1o -1 F g1 & grfora Fiferg ik gfet & =2 g
answer using the cdodes given below the lists : W?mmmqﬁmgﬁq :
List-I List-II
geft-1 adt-11
(Person) (Reason) (;qﬁﬁ) (;:'RW)
A. Gopi 1. First Indian Gymnast to win raé AfqR Sy
Thotakura Gold at Asian Championship A. T 3 L it Teeht Wﬁq?:z
B. Dipa 2. Indian born NASA scientist T F o NASA ST
Karmakar who led the team to study B. YUEHEIER 2. ﬁrﬂn—gﬁ‘ ST TR
solar ecliptic impact on El"ﬁlqﬂ%ﬂ‘;?a"ﬂ A FE
|/~ionosphere a1t A =1 Y9 FFar
C. Aroh 31\'_‘;:First Indian Space Tourist C. % 3. gge NI a%ﬁaﬁﬁ
Barjatya 7, ST
D. Dev Patel I::_—,:British actor who made hlli D. ¥3Few 4. fafesr siivar gl frew «udhy
~/directorial debut with thriller AT & Oy ey i a6t
e "“Monkey Man” @e N
Codes : A B C D
A B C D @ 3 1 2 4
(a 3 l 2 4 ) 4 1 2 3
® 4 1 2 3 ¢ 2 1 3 4
(C) 2 1 3 4 (d) 3 2 1 4
@ 3 2 1 4
139. Given below are two statements, one is labelled as 13% ﬁil g me &, T H (a) T
Assertion (A) and tlﬁc_‘oﬂ:cr as Reason (R). 331( T (R) FET TR |
Assertion (A) :"“During 2023 -24, Singapore (A) :2023-24 % 3 ¥ & FDI
emerged as the ]mg'cgt source of FDI to India. 1 HTH T U THH 3T
Reason (R) : 'Ihe-ilndia — Mauritius Tax Treaty I (R) : W — FHIT WG { o T #
amendment has brought a major shift in countries as ey faeft e (FDI) * it it & w9 § it #
major sources of FDI to India. T A AT |
Select the correct answer from the codes given below : = EEWF EE Fiﬁmﬂﬁt{ :
(a) (A)is false, but (R) is true. (a) (A)TeEE, ﬁ’TSI (R) T 2|
(b) Both (A) and (R) are true, but (R) is not the (b) (A) T (R) T well ﬁﬁ (R), (A) F @&t
correct explanation of (A). ST T F@T R |
(€) (A)is true, but (R) is false., (© (AT PRy
(d) Bollh (A) and (R) are true and (R) is the correct (d) (A) @1 (R) 3H1 & & 3t (R), (A) B T
explanation of (A). STEAT FAT ¢ |
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{40. With reference to “India - Australia Economi : T
Co-operation and Trade Agreement lCOnomlc 140. e — SATHET il gl St =R e
ECTA)," which of the following slalemi “d—.Aus (ind - Aus ECTAY ¥ wd ¥ Frefefa L
correct ? nts isfare PR FAEA R
1. This is a first-of-its-kind initiative of FTAs L FTA (@A) ¥ e s o A G
& . A
2. The mecting was attended by the Commerce Lrcad
Secretary of India, Shri Sunil Barthwal. o i i wwa ¥ At whE A ghe ATt
Select the correct answer using the codes given below : bt &
(a) Neither 1 nor2 (b) Only2 :ﬂ%ﬁq:@ﬁﬁqﬁmgﬁq \E{gg
(c) Bothland2 (d) Only1l (@ AdITE2 —
(c) 132 AT (d) FaA1
141. Match List-I with List-1
-1 and ch th q +
answer using the codes gi 0053. ° comed \1_4) S # -1l 3 W A T @ﬁ & A9
g the codes given below the lists :
List-1 ) T H PCILE AR IR AT
List-I1 \ X
(Joint Exercise) (Dates) “.fh'l :‘;r ‘fﬁ 111
A. India— Uzbekistan Joint 1. February T ATy o)
Military Exercise, 19 29 A, WA -3F TR A 1, w19 -27,
“DUSTLIK” 3094 I, ¢ ' 2024
B. India — France Joint Military 2. May 13 - 26, (DUSTLIK)
Exercise, “SHAKTI” 2024 B M - ST SO & 3T, 2. FE 13 - 26,2024
C. Harbour phase of Indo—US 3. April «qrfee” (SHAKTI)
Joint Exercise, Tiger 15— 28, C. T — W g SR H 3. e 15 - 28,
D. MILAN, 2024 4. March (g'[l'éier Triumph), 2024 3T
18 — 25, 2024 =N
Codes : D. faee (MTL{NT) 2024 4, AT 18 - 25,
~ 2024
A B C D 24 ™
& : T
@ 3 2 4 1 A Bfc D
® 3 4 1 2 @ 3 2
() 2 3 1 4 (b) 3 4 1 2
d 4 2 1 3 () 2 1
(d 4 2 1 3
142. With reference to “Shaksgam Valley™, which of the ,_____J .
following statements is/are correct ? 142. M ¥ g # Prafafaa § & FH-A0A
, , . . : FAEE R
|. This valley is a stralegic key region, that 1 part .
of Pakistan-occupied Kashmir (PoK). I.° @ G %"[’f‘”‘ﬂﬁ ‘FQ' ¥ Tewpl g7 2 S
2. India has lodged protest against  the e | * 'il“m FEIT (POK) 1 e g |
infrastructural development being carried out 2. ;I(?I e ﬂﬂ\ﬂ <t gm farw s @ e @i
by China in this valley. farshr qff‘am A FEATR |
Select the correct answer from the codes given below : ﬁmw?ﬁﬁfﬁ I :
(a) Neither 1 nor 2 (b) Only2 (@) FA 1AL ,&m/mz
(c) Bothl and 2 (d) Only | ‘ (d) *ad 1


Highlight

Highlight

Highlight


o

143.

144.

145.

146.

...............................................

With reference to the 7" India— Indonesia 30‘“;
Defence Cooperation Committee meeting, which o
the following statements is/are correct ?
1. In this meeting Indonesia agreed to 'enhanCE
collaboration in the areas of defence, ,nc!uslry,
maritime security and multilateral cooperation.
2. This meeting was held at Jakarta
May 5, 2024.
Select the correct answer from the codes given below :
(a) Neitherlnor2 (b) Only2
(c) Bothland? (d) Onlyl
With reference to “FWD 200B", which of the
following statements is/are correct ?
1. This is India’s first indigenous bomber *‘UAV™
aircraft.
2. Its payload capacity is 100 kgs.
Select the correct answer from,the codes given below :
(a) Neither 1 nor2 (B)» Only2
(c) Both1land2 (@~ Only 1
Match List-1 with List-Il-ind choose the correct
answer using the codes given;below the lists :
List-I ™ List-IT
(Name of the City) (Perlod of being
Planned)
1. Post-independence
Jaisalmer 2. Colonial Period
Kodaikanal 3. Medieval Period
D. Bhilai 4. Ancient Period
Codes :
A

on

Kanchipuram

0wy

Dy
J"w
(b) ,1.',5
(©) 2. alic)
© by s
Match List-l with List-Il"dnd choose the correct
answer using the codes given below the lists :
List-1 List-II

(Famous Local (Place/Area)
Storm)

Mango shower 1.
Blossom shower 2. Kerala a
Norwesters 3. Karnataka Coastal Areas
. '\R\f\é“sl Bengal

| ™=

(a)

sl S T
NOA W Wy
W= h M

Punjab to Bihar

143.

144.

145.

146.

§

DSTF.q,,
@m_ﬁﬁmmmmmﬁ%§ :
Tl & frefoad § @ SH-a/8 TR FERE 0

1. v daw § $2Rfir 3 T, S, AR
W":@naaﬁﬁmﬂmmm
g |

2. g dE 5 i, 2024/ THA & A Hr g
3 Ry e # & @ IR

@ Fd1FH2 () FE@2

© 1323 @ FEl

“FWD 200B” %mﬁﬁﬁ%ﬁiﬂﬁﬁﬂ?-mf&m

e R ?
|. 9 vTa &1 Yeen Tl snae “UAV™ famm g

2. Ta deire et 100 Framm R 1

R R BN IRR=

419 R g e # & v I
(@) FaAr1TE2 (b) Fae2
(d) Fad1
: ik 3R F
g e
(¥TEX HT ) (T FATC ST F 37ty
A. g 1. AR HIe
B. JGe 2. uEfTE w e
C. FERFATT 3. HeAH
D. fvard 4. A FIA
&<
A B i D
® 2 3 4 1
) 3 4 1 2
@ 1 2 2 o oy
SR Cis| &) '
Eﬁ@m%aﬂ&ﬁaﬂ%aﬁt@%ﬁﬁn
w1 11
@hig T g (ET/8)
A. Ty Taf 1. 9@ fErTs
B. &Il arett san 2. ¥Ww
C. Hi-Jard 3. st an
D. q 4.  oiymEme
&
A B C b
(@ 4 1 3 2
b 3 2 1 4
(c) 1 3 2 9
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147. Which ; . =
wh :hedc‘)?f the following pairs is nor correctly | 147. ﬁﬂmﬂﬁﬁﬁ-mgqﬂﬁ@%ﬁ% ?
ELIE ] aw
© Ko Country @ whw - wfEm
(b) Naypyidaw - Myanmar © A J——
(¢) Ottawa ~ Canada (d) =zl - iy
(d) Dublin - 1 |
reland 148, Wq;gﬁ@mﬁ-ﬁﬁmﬁﬁﬁ#-mﬁ
148. Which one of the followin i 7
1o g pairs (Deccan Trap — o T aret STt
Peculiarity) is not correctly matched ? (a) waima—'ﬁm - W
(a) Intertrappean beds — Fossils of sea plants (b) e z‘ifraﬁ e — &@mIT 1200 HiA
and animals ’
ot e — @M 450 HieT
(b) Depthof middletrap — 1200 metres © e
approximately F
(c) Depthofuppertrap — 450 metres Frait e IREC]
approximately 149. :Iga e fag T E, 3 AT Ay
(d) Depthoflowertrap — 150 metre 3 1 T (R) HET AT E |
approxim:tely FfraT (A) : i%iﬁliﬂ frgm aaq;; T:ﬁl' ﬂ% :?Z
! o, Sl argHeEe § de arelt waTel g T |
149. Given _below are two statements, one is labelled as T (R) 4 3z urredY &Y =g Tid 300 — 500 et wifer
Assertion (A) and the other as Reason (R). e (0
Assertion (A) : Jet streams discovered during World i M T
War II are high altitude easterly winds. ﬁm“ﬁﬁﬁqﬁm '
Reason (R) : Jet streams flow with a speed of (@) (A)TRI g % R) w@ R
300 — 500 km/hour. ®)  (A) 3R (R) A T E IR (R), (A) T ER
Select the correct answer from the codes given below : ST FET | &
(a) (A) is false, but (R) is true. EE’L&?
(b) Both (A)_ and (R) are true and (R) is the correct @ (A 3 (R) 2 =& = ﬁ,a (R), (A) &1 gt
explanation of (A). #m% |
(c) (A)is true, but (R) is false. )
(d) Both (A) and (R) are true, but (R) is not the|150. -1 % -1 ¥ gifera Hifse s gfaai % A g
correct explanation of (A). T T T WA L HE IR AT
150. Match List-l with List-Il and choose the correct =1 @—H
answer using the codes given below the lists : S
Li l:lmg ) List-II N
15t~ 151= -
A. T35 . e
(Country) (Mountain) d :
A. Spain — France 1. Alps B. iia?'{:éig 2. U
B. Switzerland 2.  Apennine C. 'gg—-rnﬁm 3. fef=s
C. Bulgaria 3. Pyrenees
D. s HATeh
D. Italy 4. Balkan 4
Codes : R
A B C D EYE A B C D
@ 3 1 4 2 it @ 3 1 4 2
® 3 1 2 4 (b) 3 1 2 4
(c) 4 1 2 3 (c) 2 3
@ 2 3 1 4 d 2 3 1

.................................................................................................................................
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